Svenska Bridgeférbundet
Brons 2, Festivalen 2016-07-29

Partavling, 64 bord, 128 par. Antal brickor: 24. Medel: 1512.3.

Plac Par
1 177
2 279
3 176
4 416
5 174
6 476
7 466
8 212
9 369
10 378
11 102
12 366
13 480
14 104
15 280
16 166
17 210
18 179
19 412
20 214
21 313
22 309
23 405
24 201
25 377
26 413
27 373
28 306
29 468
30 469
31 211
32 101
33 414
34 266
35 278
36 170
37 478
38 305
39 470
40 379
41 209
42 471
43 203
44 213
45 178
46 180
47 106
48 208
49 315
50 115
51 410
52 304
53 415
54 376
55 310
56 276
57 375
58 270
59 312
60 267
61 112
62 204
63 465
64 265
65 475
66 173
67 372
68 404
69 272
70 273
71 365
72 374
73 314
74 205
75 367
76 172
77 175
77 403
79 167
80 103
81 302
82 380
83 207
84 477
85 271

Poang

2148.0
2016.0
1973.1
1962.6
19590.1
1947.3
1932.1
1915.3
1908.1
1870.9
1864.8
1823.1
1802.7
1799.8
1796.9
1791.6
1778.7
1771.6
1768.3
1762.0
1746.7
1745.7
1736.3
1722.0
1719.9
1709.1
1700.1
1689.9
1686.9
1676.1
1661.1
1654.1
1649.4
1644.6
1643.9
1641.2
1635.7
1635.3
1622.9
1622.1
1622.1
1620.6
1615.6
1610.9
1609.1
1602.9
1597.4
1589.0
1572.3
1559.9
1559.6
1555.6
1545.8
1544.9
1541.7
1541.5
1538.1
1530.6
1522.0
1518.4
1514.4
1506.4
1503.7
1502.1
1499.7
1494.9
1491.9
1489.1
1486.6
1478.5
1470.1
1466.1
1457.3
1456.9
1452.7
1451.2
1443.9
1443.9
1442.9
1435.9
1435.4
1427.0
1423.4
1416.9
1412.1

%

71.03
66.67
65.25
64.90
64.79
64.39
63.89
63.34
63.10
61.87
61.67
60.29
59.61
59.52
59.42
59.25
58.82
58.58
58.48
58.27
57.76
57.73
57.42
56.94
56.87
56.52
56.22
55.88
55.78
55.43
54.93
54.70
54.54
54.38
54.36
54.27
54.09
54.08
53.67
53.64
53.64
53.59
53.43
53.27
53.21
53.01
52.82
52.55
51.99
51.58
51.57
51.44
51.12
51.09
50.98
50.98
50.86
50.62
50.33
50.21
50.08
49.82
49.73
49.67
49.59
49.43
49.33
49.24
49.16
48.89
48.61
48.48
48.19
48.18
48.04
47.99
47.75
47.75
47.71
47.48
47.47
47.19
47.07
46.86
46.70

Namn

Per Séderberg - Lennart Kjellman
Aigars Germanis - Ugis Jansons
Mogens Boysen - Marius Lyhne-Knudsen
Solveig Washer -

Kjell Glans - Gert Mortensen

Carina Sjoblom - Lennart Bylund

Jonas Engstrém - Peter Johansson
Tom Stenbakk - Bente Skymoen

Ola Weinberg - Anders Bjorkman

Per Clarin - Torbjoérn Gustavsson

Bjorn Andersson - Dan Nilsson

Finn Brandsnes - Jan Tore Berg

Jan Norberg - Bjorn Sjoberg

Berith Finnsson - Britt-Marie Jacobson
Knut Kiste - Tomas Ruth

Patrik Elofsson - Fredrik Axelsson
Matias Rohrberg - Jesper Buus Thomsen
Hannu Huhtala - Lennart Pettersson
Uffe Poulsen - Ole Adelkvist

Daniel Matus - Filip Nolhage-Olin
Dejana Sverker - Thorbjérn Fredriksson
Leif Beckman - Sten-Ake Thunberg
Kent Rorqgvist - Urban Mentzer

Jan Ternstedt - Richard Shanwell

Leif Lundberg - Micke Glyssner
Magnus Wegestal - Tomas Fransson
Christian Lahrmann - Sgren Caspersen
Preben Taasti - Mads Krojgaard
Lillemor Akesson

Ingela Nelander Hall - Mats Hall

Lisa Bergqvist - Thord Lindberg

UIf Persson - Jan Malmstrom

Tobias Bende - Sara Blom

Sune Hallgren - Morgan Johansson
Simon Rasmussen - Dag A. Lie
Gunnar Jansson - Jan Konar

Agneta Edbergh - Lars-Ake Larsmyr
Sophie Bune - Malene Holm Christensen
Krister Ljungberg - Hans Linusson
Johan Andersson - Martin Gardrup
Ingalill Linerudt - Eva Torenius

Allan Oberg - Gunnar Dybeck

Stefan Nystrom - Bengt Bern

John Inge Fredheim - Jonny Gjerde
Britt Larsson - Inge Keiser

Barbro Sandin - Géte Viktorsson

Eva Andersson - Otto Berntsson

Daniel Anteryd - Johannes Matsson
Charlotta Jénsson - Lars-Eije Svensson
Jonas Hijelte - Ulrika Forsberg

Jan Clementsson - Bonnie Clementsson
Christer Nordqyvist - Christina Westberg
Calle Lilliegren - Anders Hansson
Morten Bune - Pia Jensen

Leif Davidsson - Inger Johansson
Birgitta Wilhelmsson - Kerstin Wiberg
Sven Johannesson - Barbro Johannesson
Milan Korac - Arnold Ivansson

Willy Astrand - Kenneth Osterberg

Alf K&gstrom - Isabelle Kagstrom

Sofie Westlin - UIf Westlin

Magnus Deltin - Ann-Sophie Andersson
Caroline Tesch - Leif Nilsson

Linda Sandberg - Erik Sjostrand

Goran Strom - Per Norberg

Kjell Andersson - Stefan Andersson
Gittan Erikson - Brita Daun

Hakan Magnusson - Siw Magnusson
Erik-O Sandstrom - Per Hedqvist
Victor Todd-Moir - Séren Bune

Anders Hellstrom - Karl-Henrik Linnhag
Jorgen Claesson - Hakan Gabrielsen
Ann-Christine Brask - Thomas Falk
Harriet Sjogren - Dorothy Tagt

Annelie Backman - Karl-Erik Nilsson
Jeanette Andersson - Erik Andersson
Ann Lidfors - Sofie Mahler

Gerd Holmedahl - Louise Klang

Ville Norén - Rickard Lorenzen

Mikael Skoog - Peggy Nyholm

Olav Hjerkinn - Arne Almendingen

Kate Almkvist - Henrik Almkvist

Hans-Olov Gustafsson - Christina Lidstrém-Nordin

Jan Nyrén - Helena Nyrén
Evert Bengtsson - Birgitta Bengtsson

MID

18380
+344
+722

16766

15295
3382

11389
+619

94278

10538

14660
+434
2842

12506
+815

28614

52703

55263
+717

90716

50940

18021
2491

589

20271

91149
N572
+723

93856
89691
2787
27672
5152
+904
51436
12217
+689
36684
40197
16956
90229
14990
+678
86952
93331
3585
88282
86566
88994
55627
6206
86932
+688
6948
17196
13430
49951
24615
33288
86222
20343
80715
31131
5370
9540
10273
3533
12039
+906
83725
28214
82567
9963
40243
47293
13773
81756
55295
11067
+837
44619
5401
89540
24224

90879
+308
+718

13171
8234
245
+809
56099
1255
5967
+910
16867
13550
+816
93699
62232
46902
+896
36800
45513
2754
11111
51489
2607
19372
N579
+617
27013
148
5302
2785
55530
88993
+905
9717
14232
+909
49276
36202
21725
9929
87507
+629
+898
929
78315
52882
14309
89334
55628
15382
47032
+695
80929
20574
17219
7721
4700
41909
3230
39116
20378
46129
20066
15068
1691
9326
36317
+691
35533
27871
2069
7188
46221
87985
89690
9921
86358
51632
+832
93473
38619
89541
24225

Klubb

BK S:t Erik

Latvia

Danmark

BK S:t Erik

Tjorns BK
Sundsvallsbridgen
LudvikaBygdens BK - Borlange BK
Norge

BK S:t Erik

BK S:t Erik

Orebridgen - Ystads BS
Norge

Vaddo BK - Svegs BK
Boden-Savast BS - Pited BS
Norge

Skoévde BA

Filbyter Bridge
Mariehamns BK
Danmark

Lunds BK

Orebridgen
Kungsbacka BS

Arvika BS

BK S:t Erik

Luled BK

Malmo BK

Danmark

BS Oden

Borlange BK

Luled BK - Boden-Savast BS
BK Albrekts

BK Everfresh - Askims BK
Visby BS - Kisa BS

Norge

BK Lyx

Vastra Bjare BK

Danmark

Askims BK - BK Debut
Malmé BK

BK Bjorken

Nora BK

Strangnas BK Gripen
Norge

Askims BK - Danmark
Séllskapet, Ronneby
Arboga BK - Orust BK
Karlstads BK

Skanninge BK - Mjolby BK
Kisa BS - Visby BS
Malmé BK

Svegs BK

BK Tre Sang, Helsingborg - Gamleby BK
Danmark

Savsjo BK - Tranas BK
Véanersborgs BS

Falu BK

BK Bridgehuset - Stenstorps BK
Hassleholms BK
Sandvikens BK - Ej medlem
Malungs BK

BK S:t Erik - Rimbo BK
BK S:t Erik

Skoévde BA

Luled BK

Skellefted BK

Boras BA

Uppsalabridgen

BK Bjorken

Danmark

BK S:t Erik

Séters BK - Borlange BK
BK S:t Erik

Nora BK - Insjons BK
Orebridgen

BK Zonen

Sollefted BK

Billingsfors BS

Boras BA - Uppsalabridgen
Arvika BS

Norge

BK S:t Erik

BK Bjorken

Orebridgen

Kalmarsunds BK
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86 113 1409.9 46.62 Knut Karlsen - Torill Haakenstad +897 +808 Norge
87 274 1400.1 46.30 Jerry Mahler - Dan Tjalldén 12554 9859 Sollefteda BK
88 169 1398.8 46.26 Birgitta Jonasson - Sven Jonasson 93937 93938 Lindesbergs BS
89 402 1392.1 46.04 Ann Lofberg - Karin Ekhammar 31651 54543 BK S:t Erik
90 216 1388.1 45.90 Gerd Wrige - Nils-Bertil Gustafsson 88026 28265 Askims BK
91 411 1380.9 45.66 Marie Tonstrom - Agneta Persson 52879 52880 BK Debut
92 467 1377.7 45.56 Yvonne Flodgvist - Elisabeth Nordling 14805 11622 BK S:tErik
93 165 1372.1 45.37 Jonny Hansem - Frank Svindahl +907 +908 Norge
94 401 1367.4 45.22 Ingegard Nordenberg - Kent Nordenberg 11872 9631 Laholms BK
95 307 1364.9 45.14 Britt-Louise Lovén - Torbjorn Askernés 17630 13922 BK Bjorken - Karlstads BK
96 408 1364.4 45.12 Rogert Deiwall - Roger Pettersson 23284 55157 BK Dalom - Insjéns BK
97 108 1354.4 44.79 Erik Spangberg - Claus Réhnisch 140 4081 Orebridgen
98 168 1338.6 44.27 Kerstin Schlyter-Sunnerholm - Anders Olsson 43852 4950 Vastra Bjare BK
99 171 1330.1 43.99 Johan Séafsten - Irma Petersen 35452 33038 Uppsalabridgen - Frélunda BS
100 474 1327.1 43.88 Bengt Karlsson - Lena Troback 89265 46370 Kumla BS
101 370 1319.6 43.64 Birgitta Andersson - Therese Hult 14056 14147 Bollnds BK
102 111 1315.1 43.49 Thomas Danielsson - Lisbeth Danielsson 56596 56595 Falkopings BS
103 371 1313.5 43.43 Else-Britt Lindblom - Peter Rosenqvist 12362 87389 Kisa BS - Ankarsrums Bridgeklubb
104 308 1312.8 43.41 Hans Molin - Carina Norberg 20432 60040 Norsjo BK - Uppsalabridgen
105 269 1310.0 43.32 Stig-Ake Ifrig - Erik Johansson 20310 89345 Lulea BK
106 301 1303.5 43.11 Seth Carlsson - Martha Carlsson 46439 41106 Sollefted BK
107 472 1291.1 42.70 Inger Gerle - Johan Tesch 39792 26150 BK S:tErik
108 116 1289.3 42.64 Ingemar Klera - Hans Ohrling 9108 25090 BK S:t Erik - Norrorts Bridge
109 107 1278.1 42.27 Lennart Ekholm - Christer Astrém 50946 38022 ABB BK
110 311 1270.3 42.01 Rosemarie Fried - Urzula Pfeifer 34469 +900 Bridgekamraterna Nybro - Tyskland
111 479 12649 41.83 Kijell Berndtsson - Asa Berndtsson 4970 52690 BK Everfresh
112 303 1247.9 41.27 Lennart Rundqvist - Lars Ericson 16837 34225 Orebridgen
112 406 1247.9 41.27 Ing-Britt Johansson - G6ran Jonzon 20616 9307 Trands BK - Eksjo BK
114 268 1240.1 41.01 Tom Sandquist - Monica Sandquist 33275 33276 Laholms BK
115 215 1231.6 40.73 Lena Hammarberg - Cary Hammarberg 49083 49084 BK S:t Erik
116 114 1211.0 40.05 Maria Boberg - Ann-Helen Engstrém 40588 38837 Storsjobygdens BK
117 206 1191.9 39.41 Soren Andersson - Inga-Britt Hedstrom 35254 48560 Backe BK
118 202 1174.9 38.85 Ann-Christin Pehrson - Veronica Helenius 91883 26609 Solvesborgs BK
119 316 1167.2 38.60 Jan-Erik Dahl - Bengt Lindblom 10814 19041 Boras BA - Skovde BA
120 407 1161.3 38.40 Britt Strandgvist - Conny Strandgvist 79216 83358 Skanninge BK
121 277 1148.4 37.98 Maj-Britt Lindau - Goran Johansson 17304 17317 Askims BK
122 368 1147.4 37.94 Hakan Fahlstrom - Charlotte von Segebaden 19123 93382 Vimmerby BK - BK S:t Erik
123 109 11419 37.76 Sofia Sundstrém - Emma Sundstrém 53097 58870 Karlstads BK - Sundsvallsbridgen
124 105 1140.2 37.71 Tommy Berntsson - Agneta Pergard 85172 85171 Ahus BK
125 275 1097.9 36.31 Susanne Sjddin - Orjan Sjodin 35255 16866 Backe BK
126 409 1089.2 36.02 Shaun Jacobsen - Bjorn Eisner 49498 58760 BK Tre Sang, Helsingborg
127 110 1048.7 34.68 Kristina Olofsson - Sune Wikstrom 84980 53825 Gavle BK
128 473 911.3 30.14 Martin Sandberg - Gabriella J6nsson 59505 61056 Malmo BK
1 a4 Basta kontrakt 2 «ED3 Basta kontrakt 3 « EDKn95 Basta kontrakt
Nord v E87 24 V =-110 Ost v DKn97 3NTOD-1100 |Syd v EK76 5¢ S =400
Ingen + DKn1086 NS .- ov + 87
#KD105 & ¢ v & NT #Kn109864 & ¢ v &4 NT «D4 & ¢ v & NT
4 KD1075 48 N56 655 410854 49 N8 46 95 48742 #1063 N9 119 9 9
v K93 vDKn10 S566 55 v 10543 vE62 S746 95 vKn95 vD1082 S 9 119 9 9
+3 ¢ EK9542 o87777 +Kn53 ¢ EKD74 O5 86 48 ¢ 42 ¢ EKn10 042 434
*E842 #Kn96 v87787 «D3 #EK52 V586438 #EKn72 #986 V42433
& EKn9632 & KKn762 oK
v 6542 v K8 v43
*7 4109862 + KD9653
*73 *7 #K1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
475 408 3¢DO-2 4A 300 126.0 0.0 405 478 5¢DO-3 #7 500 126.0 0.0|106 176 3NS+2 &2 460 120.0 6.0
265 216 24 S= ¢6 110 1240 2.0|271 210 5¢DO-2 #7 300 123.0 3.0|174 109 3NN+2 &6 460 1200 6.0
165 116 3NDO-1 v6 100 117.0 9.0|376 307 34D O-2 &7 300 123.0 3.0|212 271 3NS+2 &2 460 120.0 6.0
273 208 3NV-2 ¢Q 100 117.0 9.0|412 471 4v V-4 #J 200 120.0 6.0(309 372 3NN+2 &9 460 120.0 6.0
305 378 3NV-2 44 100 117.0 9.0(109 172 4y V-3 #J 150 114.0 12.0(380 301 5N S= 2 460 120.0 6.0
376 307 3¢ O-2 v2 100 117.0 9.0(168 113 5¢ V-3 #J 150 114.0 12.0|411 470 3NS+2 &7 460 120.0 6.0
416 467 2¢ O-2 7 100 117.0 9.0|279 202 5¢ V-3 vQ 150 114.0 12.0 (474 407 3NN+2 48 460 120.0 6.0
476 407 3NV-2 &K 100 117.0 9.0(372 311 64 V-3 #J 150 114.0 12.0|274 209 44 N+1 &8 450 112.0 14.0
370 313 2v O-1 ¢7 50 110.0 16.0 |416 467 4y V-3 #J 150 114.0 12.0|104 178 3NS+1 &2 430 95.0 31.0
168 113 24 S-1  ¢3 -50 102.0 24.0|203 278 4¢ O-2 #7 100 97.0 29.0|116 167 3NS+1 &7 430 95.0 31.0
174 107 24 S-1  +3 -50 102.0 24.0|267 214 4¢ O-2 7 100 97.0 29.0(169 114 3NS+1 &2 430 95.0 31.0
180 101 24 S-1  +3 -50 102.0 24.0|269 212 4y V-2 #8 100 97.0 29.0|170 113 3NS+1 48 430 95.0 31.0
204 277 24 S-1  ¢2 -50 102.0 24.0|276 205 3v V-2 #J 100 97.0 29.0|268 215 3NS+1 &2 430 95.0 31.0
211 270 24 S-1 43 -50 102.0 24.0|280 201 4¢ O-2 42 100 97.0 29.0|270 213 3NS+1 &2 430 95.0 31.0
366 365 24 S-1 3 -50 102.0 24.0|316 367 4¢ O-2 42 100 97.0 29.0|272 211 3NS+1 &2 430 95.0 31.0
480 402 24 S-1  +3 -50 102.0 24.0|369 314 5¢ V-2 &J 100 97.0 29.0|280 202 3NS+1 &6 430 95.0 31.0
109 172 INO= *7 -90 94.0 32.0|377 306 4v V-2 #J 100 97.0 29.0|304 377 3NS+1 &7 430 95.0 31.0
111 170 2NN - ¢A -100 80.0 46.0|380 302 5¢ O-2 &7 100 97.0 29.0(315 366 3NS+1 v5 430 95.0 31.0
167 114 24 S-2  ¢3 -100 80.0 46.0 (466 465 3¢ V-2 &J 100 97.0 29.0|367 314 3NS+1 &7 430 95.0 31.0
171 110 3v S-2 43 -100 80.0 46.0 (468 415 4¢DO-1 8 100 97.0 29.0(373 308 3ANN+1 ¥3 430 95.0 31.0
173 108 24 S-2  +3 -100 80.0 46.0 (472 411 5¢ V-2 #J 100 97.0 29.0(376 305 3NN+1 v2 430 95.0 31.0
267 214 2NN-2 vQ -100 80.0 46.0(111 170 3¢ O-1 &7 50 70.0 56.0404 477 3NS+1 &2 430 95.0 31.0
276 205 2NN-2 vQ -100 80.0 46.0|171 110 3NV-1  #J 50 70.0 56.0 (468 413 3NN+1 v2 430 95.0 31.0
279 202 2v S-2 43 -100 80.0 46.0(173 108 2v V-1 &#J 50 70.0 56.0 (475 406 3NN+1 v2 430 95.0 31.0
312 371 24 S-2 45 -100  80.0 46.0 (174 107 3v O-1 &7 50 70.0 56.0(101 107 3NN= v2 400 50.0 76.0
372 311 24 S-2 +6 -100 80.0 46.0(180 101 3¢ O-1 T 50 70.0 56.0 (103 179 3NN= v8 400 50.0 76.0
374 309 2NN-2 vQ -100 80.0 46.0(209 272 3¢ V-1 &T 50 70.0 56.0 (105 177 3NN= 6 400 50.0 76.0
401 403 24 S-2 3 -100  80.0 46.0 (274 207 3¢ V-1 &J 50 70.0 56.0(112 171 3NN= v2 400 50.0 76.0
466 465 24 S-2  ¢3 -100 80.0 46.0 (275 206 3¢ O-1 &7 50 70.0 56.0 (166 165 3NN = v2 400 50.0 76.0
477 406 2NN-2 vQ -100 80.0 46.0(304 379 3v V-1 &J 50 70.0 56.0 (168 115 3NS= v9 400 50.0 76.0
103 178 2N O = 46 -120  66.0 60.0 (305 378 3¢ O-1 vK 50 70.0 56.0(172 111 3NN= v2 400 50.0 76.0
104 177 24 S-3 43 -150 50.0 76.0 (375 308 4¢ O-1 &7 50 70.0 56.0 (175 108 3NS= 47 400 50.0 76.0
105 176 24 S-3 ¢33 -150 50.0 76.0 (470 413 3NV-1 vQ 50 70.0 56.0|201 203 3NN= v2 400 50.0 76.0
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169 112 3¢ S-3 #4A -150 500 76.0(474 409 3NV-1 #J 50 70.0 56.0(204 279 3NS= &2 400 50.0 76.0
203 278 2¢ N-3 vQ -150 50.0 76.0(477 406 3¢ O-1 &7 50 70.0 56.0(205 278 3N S = &2 400 50.0 76.0
271 210 24 S-3  ¢3 -150 50.0 76.0(480 402 3¢ V-1 #J 50 70.0 56.0(210 273 3NN-= v2 400 50.0 76.0
274 207 24 S-3  ¢3 -150 50.0 76.0(312 371 2¢ V= vJ] -90 52.0 74.0|216 267 3NN= v2 400 50.0 76.0
280 201 24 S-3 3 -150 50.0 76.0 (401 403 2¢ V= &J -90 52.0 74.0|266 265 3NS= &7 400 50.0 76.0
301 303 24 S-3 #4 -150 50.0 76.0|404 479 2¢ O= &7 -90 52.0 74.0|269 214 3NN= v8 400 50.0 76.0
310 373 24 S-3 v3 -150 50.0 76.0(105 176 2« N-1 K -100 43.0 83.0(275 208 3NN = 3 400 50.0 76.0
369 314 24 S-3 3 -150 50.0 76.0(115 166 24 S-1 #Q -100 43.0 83.0(276 207 3NN = &9 400 50.0 76.0
377 306 24 S-3 ¢33 -150 50.0 76.0|211 270 34 S-1  +3 -100 43.0 83.0|311 370 3NS= 8 400 50.0 76.0
404 479 24 S-3 v3 -150 50.0 76.0(215 266 34 S-1  +J -100 43.0 83.0(368 313 3NN= v2 400 50.0 76.0
405 478 24 S-3 3 -150 50.0 76.0(265 216 44 S-1  +J -100 43.0 83.0(369 312 3NS-= v9 400 50.0 76.0
412 471 24 S-3 46 -150 500 76.0|268 213 2« N-1 ¢A -100 43.0 83.0|374 307 3NS= v5 400 50.0 76.0
469 414 24 S-3  ¢3 -150 50.0 76.0(102 179 3¢ O= a2 -110 29.0 97.0|375 306 3NS= &2 400 50.0 76.0
102 179 34 S-4 #A -200 30.0 96.0|167 114 3¢ O= vK -110 29.0 97.0|379 302 3NN= v2 400 50.0 76.0
209 272 34 S-4  ¢3 -200  30.0 96.0|175 106 3¢ O= &7 -110 29.0 97.0|409 472 3NS= &7 400 50.0 76.0
375 308 3NN-4 ¢4 -200  30.0 96.0|204 277 3¢ O= &7 -110  29.0 97.0 {467 414 3NN= v2 400 50.0 76.0
410 473 3v S-4 3 -200  30.0 96.0 (301 303 3¢ O= &7 -110  29.0 97.0 (469 412 3NN= v2 400 50.0 76.0
468 415 3NN-4 2 -200  30.0 96.0|310 373 2¢ O+1 &7 -110 29.0 97.0|471 410 3NS= &7 400 50.0 76.0
275 206 44 S-5 ¢3 -250 21.0 105.0 |366 365 3¢ O= &7 -110  29.0 97.0 (476 405 5¢ S= ¢4 400 50.0 76.0
316 367 3#N-5 ¢A -250 21.0 105.0 (476 407 2¢ O+1 &7 -110 29.0 97.0 (480 401 3NN= v5 400 50.0 76.0
368 315 3#N-5 ¢A -250 21.0 105.0|169 112 2NO = a2 -120 20.0 106.0 |473 408 INN+3 ¢8 180 20.0 106.0
380 302 34 N-5 48 -250 21.0 105.0 {410 473 2v O+1 T  -140 18.0 108.0 |415 466 24 N+2 ¥8 170 18.0 108.0
215 266 2NDN-2 ¢A -300 16.0 110.0 {104 177 34DS-1 3 -200  12.0 114.0 {180 102 3¢ S+2 44 150 15.0 111.0
472 411 3NV = ¢Q -400 14.0 112.0|165 116 44DS-1 2 -200 12.0 114.0|277 206 4¢ S+1 v5 150 15.0 111.0
115 166 24DS-3 ¢7 -500 9.0 117.0|368 315 34DS-1 v4 -200  12.0 114.0|403 478 24 N+1 ¢8 140 12.0 114.0
175 106 3NDN-3 438 -500 9.0 117.0|370 313 34DS-1 ¢3 -200  12.0 114.0 {479 402 3¢ S+1 ¢5 130 10.0 116.0
269 212 2NDN-3 48 -500 9.0 117.0|469 414 44D S-1 ¢1J -200  12.0 114.0 {110 173 3¢ S= «A 110 7.0 119.0
304 379 34DS-3 3 -500 9.0 117.0 (103 178 3¢DO= T  -470 4.0 122.0 (303 378 2y N= 6 110 7.0 119.0
268 213 ANDN-5 ¢A -1100 2.0 124.0 (374 309 3¢DO= &7 -470 4.0 122.0 (371 310 4y N-1  #8 -50 4.0 122.0
470 413 3#DN-5 48 -1100 2.0 124.0 (475 408 3¢DO= &7 -470 4.0 122.0 (465 416 4y N-2 49 -100 2.0 124.0
474 409 34DS-5 ¢3 -1100 2.0 124.0|273 208 44D S-2 44 -500 0.0 126.0 (365 316 64 S-3 #A  -150 0.0 126.0
4 # 875 Basta kontrakt 5 « KD10942 Basta kontrakt 6 » Kn8754 Basta kontrakt
Vast v KKn10864 6NT V =-1440 Nord v 842 5¢ O =-400 Ost v EK932 3NT O =-600
Alla +54 NS *- ov +9
*K9 & ¢ v & NT #EDKnN2 & ¢ v & NT *32 & ¢ v & NT
4 EKKN2 496 N31421 43  EKn75 N5147 4 4 EK93 &D2 N526 6 3
vED2 v 973 S31421 vKKn73 vE6 S5147 4 vD8765 v4 S5266 3
+ KD2 ¢+ EKn876 09 119 1111 ¢ EKn64 ¢ KD1087 O6 117 6 9 + K8 ¢ EDKn1054 O 7 107 6 9
»D42 *E65 V 10129 1112 #8765 #43 V 6 118 6 9 »87 #KD64 vV 7 107 6 9
4 D1043 » 86 » 106
v5 vD1095 vKn10
41093 49532 47632
#Kn10873 #K109 #EKN1095
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
365 316 6NV -3 48 300 126.0 0.0|165 168 5¢DO-3 ¢2 500 126.0 0.0|175 110 5¢ O-2 46 200 1240 2.0
174 109 6NV -2 &7 200 123.0 3.0|476 411 5¢DO-2 48 300 1240 2.0|414 473 2v V-2 +9 200 1240 2.0
369 312 6NV-2 45 200 123.0 3.0|175 110 14 N+1 vA 110 121.0 5.0|471 416 5¢ O-2 46 200 1240 2.0
103 179 6NO-1 v5 100 119.0 7.0|269 216 24 N= 4 110 121.0 5.0|476 411 3NO-1 &T 100 1200 6.0
112 171 6NV-1 48 100 119.0 7.0|211 274 5¢DO-1 ¢3 100 118.0 8.0|102 108 3¢ O+1 vJ -130 118.0 8.0
170 113 3NV = 48 -600 114.0 12.0(170 115 3NO-1 &K 50 114.0 12.0|180 103 4¢ O+1 vJ -150 116.0 10.0
201 203 3NV = a5 -600 1140 12.0|371 316 3« V-1 4K 50 1140 12.0|412 475 44DN-3 v4 -500 114.0 12.0
376 305 3NV = *4 -600 114.0 12.0 (478 409 4¢ O-1 48 50 114.0 12.0|101 109 3NV = v2 -600 95.0 31.0
280 202 4a V= &K -620 110.0 16.0|102 108 24 N-1 ¢K -100 107.0 19.0(104 179 3NV = v3 -600 95.0 31.0
101 107 3NO+1 #J -630 101.0 250|113 172 34 N-1 vA  -100 107.0 19.0|167 166 3NV = a4 -600 95.0 31.0
166 165 3NV +1 45 -630 101.0 25.0(173 112 24 N-1  +J -100 107.0 19.0(169 116 3NV = a4 -600 95.0 31.0
172 111 3NV +1 v6 -630 101.0 25.0(480 404 24 N-1 ¢7 -100 107.0 19.0|170 115 3NV = a4 -600 95.0 31.0
210 273 3NV +1 &5 -630 101.0 25.0(366 369 2N O = 8 -120 102.0 24.0|202 204 3NV = a4 -600 95.0 31.0
212 271 3NV+1 3 -630 101.0 25.0(104 179 3¢ O+1 48 -130  95.0 31.0(211 274 3NV = 45 -600 95.0 31.0
266 265 3NV +1 &7 -630 101.0 25.0|171 114 3¢ O+1 438 -130 95.0 31.0(265 268 3NV = a4 -600 95.0 31.0
309 372 3NV +1 48 -630 101.0 25.0(202 204 4¢ O= 8 -130  95.0 31.0(269 216 3NV = a5 -600 95.0 31.0
468 413 4NV = a7 -630 101.0 25.0|379 308 3¢ O+1 48 -130  95.0 31.0(275 210 3NO= vA -600 95.0 31.0
104 178 3NV +2 +8 -660 68.0 58.0|406 402 4¢ O= 48 -130 95.0 31.0(280 203 3NV = a4 -600 95.0 31.0
116 167 3NV +2 v6 -660 68.0 58.0|468 467 3¢ O+1 46 -130  95.0 31.0|307 301 3NO= T -600 95.0 31.0
168 115 3NO+2 &3 -660 68.0 58.0(111 174 2NO+1 46 -150 76.0 50.0|372 315 3NV = 46 -600 95.0 31.0
169 114 3NV +2 v6 -660 68.0 58.0(205 201 3¢ V+2 48 -150 76.0 50.0|374 313 5¢ O= «T -600 95.0 31.0
205 278 3NV +2 v8 -660 68.0 58.0(267 266 3¢ O+2 48 -150 76.0 50.0|377 310 3NV = a4 -600 95.0 31.0
216 267 ANO+1 &7 -660 68.0 58.0(278 207 3¢ O+2 48 -150 76.0 50.0|379 308 3NV-= 45 -600 95.0 31.0
269 214 3NV +2 +8 -660 68.0 58.0|306 302 3¢ O+2 48 -150 76.0 50.0(380 304 3NV-= a4 -600 95.0 31.0
270 213 3NV +2 v4 -660 68.0 58.0|307 301 4¢ O+1 48 -150 76.0 50.0|470 465 3NV = a7 -600 95.0 31.0
272 211 3NV +2 vJ] -660 68.0 58.0|370 365 4¢ O+1 48 -150 76.0 50.0 105 178 3NV +1 &2 -630 50.0 76.0
277 206 3NV+2 T -660 68.0 58.0(372 315 4¢ O+1 46 -150 76.0 50.0|107 176 3NV +1 &5 -630 50.0 76.0
304 377 3NV +2 8 -660 68.0 58.0|376 311 3¢ O+2 46 -150 76.0 50.0|111 174 3NO+1 &9 -630 50.0 76.0
371 310 3NV +2 vJ -660 68.0 58.0|378 309 4¢ O+1 48 -150 76.0 50.0 (171 114 3NV +1 *2 -630 50.0 76.0
374 307 3NV+2 T -660 68.0 58.0({403 405 3¢ O+2 48 -150 76.0 50.0 (173 112 3NO+1 #J -630 50.0 76.0
379 302 3NV+2 T -660 68.0 58.0(412 475 3¢ O+2 48 -150 76.0 50.0205 201 3NV +1 &5 -630 50.0 76.0
380 301 3NV+2 T -660 68.0 58.0(471 416 4¢ O+1 46 -150 76.0 50.0(213 272 3NO+1 #J -630 50.0 76.0
404 477 3NV +2 v6 -660 68.0 58.0(265 268 34DN-1 ¢K -200 57.0 69.0|270 215 3NV+1 K -630 500 76.0
409 472 3NV +2 v] -660 68.0 58.0(271 214 24DN-1 ¢K -200 57.0 69.0|271 214 3NO+1 45 -630 50.0 76.0
415 466 3NV +2 v6 -660 68.0 58.0(380 304 34 N-2 ¢K -200 57.0 69.0|273 212 3NV +1 &7 -630 50.0 76.0
465 416 3NV +2 v6 -660 68.0 58.0(466 469 34 N-2 ¢A -200 57.0 69.0|277 208 3NO+1 &5 -630 50.0 76.0
467 414 3NV +2 v6 -660 68.0 58.0|470 465 24 N-2 K -200 57.0 69.0|278 207 3NV +1 2 -630 50.0 76.0
471 410 3NV +2 vJ -660 68.0 58.0(479 408 34DN-1 K -200 57.0 69.0(314 373 3NO+1 &J -630 50.0 76.0
475 406 3NV+2 K -660 68.0 58.0|276 209 34 N-3 ¢Q -300 49.0 77.0(366 369 3NV +1 48 -630 50.0 76.0
476 405 3NV+2 K -660 68.0 58.0|377 310 3vS-3 ¢A -300 49.0 77.0(368 367 3NV +1 &5 -630 50.0 76.0
479 402 3NV+2 T -660 68.0 58.0|169 116 3NO= 48 -400 36.0 90.0|371 316 3NV+1 ¢K -630 50.0 76.0
480 401 3NV+2 T -660 68.0 58.0|206 279 3NO= v5 -400 36.0 90.0|378 309 3NO+1 T -630 50.0 76.0
105 177 3NV+3 T -690 30.0 96.0(273 212 3NO = 45 -400  36.0 90.0 {403 405 3NO+1 &9 -630 50.0 76.0
106 176 3NV +3 vJ -690 30.0 96.0(275 210 3NO= v5 -400 36.0 90.0 {407 401 3NV +1 &3 -630 50.0 76.0
110 173 3NV+3 T  -690 30.0 96.0(277 208 5¢ O= 48 -400 36.0 90.0|466 469 3NO+1 &T -630 50.0 76.0
175 108 3NV +3 48 -690 30.0 96.0(280 203 3NO = 8 -400  36.0 90.0 {468 467 3NV +1 &2 -630 50.0 76.0
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180 102 3NV +3 T -690 30.0 96.0(314 373 3NO= 48 -400 36.0 90.0|472 415 3NV+1 <A -630 50.0 76.0
268 215 ANV +2 +8 -690 30.0 96.0 (368 367 5¢ V= 4K -400 36.0 90.0|474 413 3NV +1 45 -630 50.0 76.0
274 209 3NV +3 48 -690 30.0 96.0|374 313 5¢ O= 48 -400 36.0 90.0|477 410 3NV +1 45 -630 50.0 76.0
275 208 3NO+3 +v6 -690 30.0 96.0|407 401 5¢ O= 48 -400 36.0 90.0|478 409 3NV +1l &7 -630 50.0 76.0
276 207 3NV +3 +v6 -690 30.0 96.0 (414 473 5¢ O = 48 -400 36.0 90.0(479 408 3NO+1 &T -630 50.0 76.0
303 378 3NV +3 vJ -690 30.0 96.0(106 177 3NO+1 4K -430 22.0 104.0 (480 404 3NV +1 44 -630 50.0 76.0
315 366 3NV +3 T -690 30.0 96.0|107 176 3NO+1 46 -430 22.0 104.0|106 177 3NO+2 46 -660 12.0 114.0
411 470 3NV +3 v4 -690 30.0 96.0 (472 415 3NO+1 48 -430 22.0 104.0 {113 172 3NV +2 &3 -660 12.0 114.0
473 408 3NV +3 v4 -690 30.0 96.0|303 305 3NO+2 &J -460 18.0 108.0 (165 168 3NV +2 ¢2 -660 12.0 114.0
311 370 3NV +4 8 -720 11.0 115.0 (180 103 34DN-2 ¢K -500 15.0 111.0|206 279 3NO+2 &9 -660 12.0 114.0
367 314 3NV +4 v -720  11.0 115.0 {270 215 34aDN-2 ¢K -500 15.0 111.0 (276 209 3NO +2 &9 -660 12.0 114.0
373 308 3NO+4 v -720  11.0 115.0 (213 272 4¢DO= 48 -510 12.0 114.0 (303 305 3NV+2 vA -660 12.0 114.0
403 478 3NV +4 +8 -720 11.0 115.0 {101 109 5¢D O +1 *8 -650 10.0 116.0 |306 302 3NO+2 *2 -660 12.0 114.0
469 412 3NV +4 T -720 11.0 115.0|312 375 3¢DO+2 ¢3 -670 8.0 118.0 312 375 3NO+2 ¥5 -660 12.0 114.0
474 407 3NV +4 vT -720 11.0 115.0|474 413 34DN-3 ¢K -800 6.0 120.0 (370 365 3NV +2 vA -660 12.0 114.0
375 306 2vyDN-4 v3 -1100 4.0 122.0 (167 166 44D N-4 ¢K -1100 3.0 123.0|376 311 3NV +2 &2 -660 12.0 114.0
204 279 6NV = 45 -1440 1.0 125.0|477 410 34DN-4 ¢K -1100 3.0 123.0|406 402 3NO+2 vJ -660 12.0 114.0
368 313 6NV = 48 -1440 1.0 125.0|105 178 34DN-5 vA -1400 0.0 126.0 (267 266 3N O +3 #5 -690 0.0 126.0
7 4 E73 Bésta kontrakt 8 a- Bésta kontrakt 9 & K542 Bésta kontrakt
Syd v EDKn54 44 V =-620 Vast v DKn108 2NT N =120 Nord v K1062 6v ND-5-1100
Alla *2 Ingen + ED65 ov +9
#9843 & ¢ v & NT #KD875 & ¢ v & NT #K942 & ¢ v & NT
4 DKn852 4 K96 N4 4823 4 Kn97653 4108 N57 85 8 4 Kn96 « ED1073 N8 17 22
v10 v K86 S 44823 vE72 vK5 S57858 v D853 vKn S817 22
¢ ED943 ¢ 105 09 9 5 108 +3 ¢ K10872 06 6 4765 ¢ KD1043 ¢ E652 O 4 126 1110
#Kn10 #EK752 V9 95 108 #Kn92 #E1064 V66475 &E &D75 V 4 126 1110
104 & EKD42 48
v 9732 v 9643 vE974
+ KKn876 + Kn94 + Kn87
«D6 *3 #Kn10863
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
376 309 44DV-1 ¢5 200 126.0 0.0|203 205 4v N= ¢7 420 1250 1.0|374 365 64D O-2 #J 500 126.0 0.0
102 110 2v N= &A 110 124.0 2.0(476 409 4v N= T 420 125.0 1.0(302 310 44 O-2 #J 200 1240 2.0
106 178 44 V-1  ¢2 100 109.0 17.0|207 201 3NN = vK 400 117.0 9.0|207 203 44 O-1 7 100 1190 7.0
174 113 44 V-1 ¢2 100 109.0 17.0|212 275 3NN = 3 400 117.0 9.0|305 307 5¢ V-1 42 100 1190 7.0
212 275 44 V-1 ¢2 100 109.0 17.0|214 273 3NN= &8 400 117.0 9.0|316 375 44 O-1 &9 100 119.0 7.0
214 273 44 V-1 ¢2 100 109.0 17.0|405 401 3NN = ¢2 400 117.0 9.0|480 406 6¢ V-1 v6 100 1190 7.0
268 267 44 V-1 vA 100 109.0 17.0|465 468 3NN = «T 400 117.0 9.0|368 371 34 O+1 <vA -170 114.0 12.0
278 209 44 V-1 vA 100 109.0 17.0|475 410 3NN = vK 400 117.0 9.0(380 306 34 O+2 vA -200 112.0 14.0
279 208 44 V-1  ¢2 100 109.0 17.0|371 314 INN+2 vK 150 108.0 18.0(167 170 34 O+4 &3 -260 110.0 16.0
280 204 44 V-1 ¢2 100 109.0 17.0|402 404 INN+2 #6 150 108.0 18.0(102 112 44 O= &J -620 87.0 39.0
306 379 44 V-1 ¢2 100 109.0 17.0|413 472 INN+2 ¢2 150 108.0 18.0|104 110 44 O= &9 -620 87.0 39.0
313 372 3NO-1 v9 100 109.0 17.0|101 111 3v S= +3 140 102.0 24.0|107 178 44 O= &J -620 87.0 39.0
378 307 44 V-1 ¢2 100 109.0 17.0|166 169 3v N = T 140 102.0 24.0|108 177 44 O= vA -620 87.0 39.0
405 401 44 V-1 ¢2 100 109.0 17.0|378 307 3v S= +3 140 102.0 24.0|113 101 44 O= &J -620 87.0 39.0
476 409 44 V-1  ¢2 100 109.0 17.0|470 415 INN+1 T 120 98.0 28.0|172 165 5¢ V+1 v6 -620 87.0 39.0
480 403 44 V-1 ¢2 100 109.0 17.0 |467 466 2v S= +3 110 96.0 30.0|173 116 44 O= vA -620 87.0 39.0
103 109 3y N-1 #A  -100 90.0 36.0(|171 116 24DV-1 +¢Q 100 92.0 34.0(175 114 44 O= &6 -620 87.0 39.0
112 175 3vy N-1 &A -100 90.0 36.0 (279 208 24DV-1 vQ 100 92.0 34.0|213 276 44 O= &J -620 87.0 39.0
114 173 2¢ N-1 #A -100 90.0 36.0(369 316 3NDO-1 &K 100 92.0 34.0|267 270 44 O= v4 -620 87.0 39.0
377 308 3¥y N-1 A -100 90.0 36.0(103 109 24 V-1 vQ 50 88.0 38.0|269 268 44 O = *T -620 87.0 39.0
473 412 3vy N-1 #K -100 90.0 36.0(105 179 4v N-1 &T -50 79.0 47.0|271 266 44 O= *7 -620 87.0 39.0
166 169 24 V= 2 -110 82.0 44.0|114 173 4y N-1 7 -50  79.0 47.0)|273 216 44 O= 48 -620 87.0 39.0
369 316 24 V= 2 -110 82.0 44.0|170 165 4v S-1  +3 50 79.0 47.0|277 212 44 O= vyA -620 87.0 39.0
370 315 34 0= v3 -110 82.0 44.0|266 269 4y S-1 46 -50 79.0 47.0)|278 211 44 O= &J -620 87.0 39.0
477 408 44 O = v9 -130 78.0 48.0(365 368 4v N-1 &T -50  79.0 47.0|309 303 44 O= &J -620 87.0 39.0
101 111 24 V+1 ¢2 -140 67.0 59.0 (471 414 4y N-1 2 -50 79.0 47.0|372 367 5¢ V+1 ¢9 -620 87.0 39.0
171 116 3a V= +3 -140 67.0 59.0|477 408 2& N-1 &7 -50 79.0 47.0|378 313 44 O= &J -620 87.0 39.0
270 265 34 V= 2 -140 67.0 59.0(478 407 4v N-1 &7 -50  79.0 47.0|379 312 44 O= vA -620 87.0 39.0
276 211 24 V+1 ¢2 -140 67.0 59.0|106 178 4y N-2  +7 -100  55.0 71.0(416 475 44 O= &J -620 87.0 39.0
305 301 34 V= 2 -140 67.0 59.0(107 177 2¢ N-2 &T -100 55.0 71.0|474 465 44 O= &6 -620 87.0 39.0
375 310 24 V+1  ¢2 -140 67.0 59.0|112 175 4v S-2  +3 -100 55.0 71.0|479 412 44 O= &J -620 87.0 39.0
411 474 24 V+1 vQ -140 67.0 59.0|271 216 4v S-2 +3 -100 55.0 71.0|405 407 3NO+1 &3 -630 64.0 62.0
413 472 24 V+1  ¢2 -140 67.0 59.0(274 213 4v N-2 &7 -100 55.0 71.0({109 176 44 O+1 &T -650 40.0 86.0
470 415 24 V+1 2 -140 67.0 59.0|302 304 4v S-2 +3 -100 55.0 71.0|115 174 44 O+1 <A -650 40.0 86.0
478 407 34 V= 2 -140 67.0 59.0|305 301 4y N-2 ¢2 -100 55.0 71.0(171 166 44 O+1 &J -650 40.0 86.0
105 179 34 V+1 ¢2 -170  47.0 79.0|306 379 3v S-2 ¢2 -100 55.0 71.0(180 105 44 O+1 #J -650 40.0 86.0
168 167 24 V+2 ¢2 -170 47.0 79.0|311 374 3NN-2 ¢K -100 55.0 71.0(201 209 44 O+1 #J -650 40.0 86.0
170 165 24 V+2 ¢2 -170  47.0 79.0|313 372 4v N-2 49 -100  55.0 71.0(204 206 44 O+1 #J -650 40.0 86.0
203 205 34 V+1 ¢2 -170 47.0 79.0|367 366 3v N-2 &T -100 55.0 71.0|208 202 44 O+1 &3 -650 40.0 86.0
311 374 24 V+2 2 -170  47.0 79.0|370 315 4v N-2 &7 -100 55.0 71.0(215 274 44 O+1 #J -650 40.0 86.0
365 368 34 V+1  ¢2 -170 47.0 79.0|373 312 5v N-2 43 -100 55.0 71.0(272 265 44 O+1 vA -650 40.0 86.0
402 404 34 V+1 vA -170 470 79.0|377 308 4v S-2 +3 -100 55.0 71.0(279 210 44 O+1 #J -650 40.0 86.0
406 479 34 V+1 2 -170 47.0 79.0|406 479 4v N-2 &7 -100 55.0 71.0(280 205 44 O+1 #J -650 40.0 86.0
469 416 34 V+1 ¢2 -170 47.0 79.0)|469 416 4v S-2  +3 -100 55.0 71.0(301 311 44 O+1 vA -650 40.0 86.0
471 414 34 V+1  ¢2 -170 47.0 79.0|102 110 4v S-3 +3 -150 28.0 98.0 (314 377 44 O+1 #J -650 40.0 86.0
108 176 4y N-2 &A  -200 32.0 94.0 (168 167 4v S-3 3 -150 28.0 98.0(370 369 44 O+1 #J -650 40.0 86.0
172 115 24 V+3 ¢2 200 32.0 94.0|206 202 4v N-3 &T -150 28.0 98.0|373 366 44 O+1 ¢3 -650 40.0 86.0
180 104 34 O+2 #Q -200 32.0 94.0(270 265 34 S-3 3 -150 28.0 98.0|376 315 44 O+1 48 -650 40.0 86.0
272 215 3v S-2 4K -200 32.0 94.0(272 215 4v S-3 3 -150 28.0 98.0 (401 411 44 O+1 #J -650 40.0 86.0
373 312 3vyDN-1 %6 -200 320 94.0(276 211 4v S-3  +3 -150 28.0 98.0 (402 410 44 O+1 vA -650 40.0 86.0
302 304 4v N-3 #K -300 26.0 100.0|277 210 3NN-3 ¢K -150 28.0 98.0 (408 404 44 O+1 ¢J -650 40.0 86.0
475 410 3vyDN-2 #A -500 24.0 102.0(280 204 4v S-3 ¢4 -150 28.0 98.0 (414 477 44 O+1 #J -650 40.0 86.0
107 177 44 V= 2 -620 15.0 111.0|375 310 4v N-3  &T -150 28.0 98.0 (470 469 44 O+1 vA -650 40.0 86.0
206 202 4a V= 2 -620 15.0 111.0 |473 412 4v S-3  +3 -150 28.0 98.0 (472 467 44 O+1 48 -650 40.0 86.0
207 201 4s V= 2 -620 15.0 111.0|480 403 5v S-3  +3 -150 28.0 98.0 (476 415 44 O+1 #J -650 40.0 86.0
266 269 44 V= 2 -620 15.0 111.0 (172 115 1aDV= ¢Q -160 16.0 110.0 {103 111 3NO+2 #J -660 14.0 112.
271 216 4a V= 2 -620 15.0 111.0 {268 267 44« N-4 &T -200 13.0 113.0|106 179 3NO+2 &T -660 14.0 112.0
274 213 44 V= 2 -620 15.0 111.0|380 303 5v N-4 +3 -200 13.0 113.0 {468 471 3NV +2 &2 -660 14.0 112.0
277 210 44 V= 2 -620 15.0 111.0 (411 474 44 S-5 +3 -250 10.0 116.0|169 168 44 O+2 A  -680 6.0 120.0
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467 466 44 V= 2 -620 15.0 111.0 ({108 176 24DV = &K -470 5.0 121.0 |275 214 54 O+1 vA  -680 6.0 120.0
367 366 44 V+1 ¢2 -650 3.0 123.0|174 113 24DV = vJ -470 5.0 121.0 (308 304 44 O+2 &J -680 6.0 120.0
371 314 44 V+1 ¢2 -650 3.0 123.0 (180 104 24DV = vQ -470 5.0 121.0 {409 403 44 O+2 438 -680 6.0 120.0
380 303 44 V+1 2 -650 3.0 123.0|278 209 24DV= vQ -470 5.0 121.0 |[473 466 44 O+2 48 -680 6.0 120.0
465 468 44 V+1 ¢2 -650 3.0 123.0|376 309 5¢DS-4 46 -800 0.0 126.0 |478 413 3N O+3 48 -690 0.0 126.0
10 4103 Basta kontrakt 11 4 Kn6 Basta kontrakt 12 4 Kn8 Basta kontrakt
Ost v 874 54 O =-650 Syd v D82 34 S =110 Vast v 10842 2NT V =-120
Alla + 9864 Ingen + K106 NS + 103
#D986 & ¢ v & NT #KDKn109 & ¢ v & NT #KKn853 & ¢ v & NT
4DKn72 4 E9654 N52213 41042 4 ED975 N9 8767 4E10953 472 N7 4655
vKD102 v653 S52213 vE1076 v543 S98767 v EKn5 v D97 S74655
¢ EKDKNn7 ¢3 O 8 11111110 ¢ E85 ¢+ D72 044675 ¢+ ED7 ¢ K9865 06 97 838
»- #KKn102 vV 8 11111110 2873 *62 V446775 «D2 »1064 V6972838
4 K8 4 K83 « KD64
v EKn9 v KKn9 v K63
¢ 1052 ¢ Kn943 ¢ Kn42
#E7543 #E54 *E97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
172 165 64 O-1 vA 100 1240 2.0|174 165 3NN+1 &5 430 123.0 3.0(116 175 INS+2 &5 150 126.0 0.0
269 268 64 O-1 vA 100 1240 2.0|208 204 3NN+1 &5 430 123.0 3.0(101 115 INS+1 45 120 121.0 5.0
402 410 64 O-1 vA 100 1240 2.0(307 303 3NS+1 v6 430 123.0 3.0(|280 206 INS+1 &5 120 121.0 5.0
102 112 44 O+1 2 -650 71.0 55.0(369 368 3NS+1 ¥3 430 123.0 3.0(378 311 INS+1 &5 120 121.0 5.0
103 111 44 O+1 #A -650 71.0 55.0|101 115 3NN= 46 400 97.0 29.0 (401 409 2NS= 43 120 121.0 5.0
104 110 44 O+1 3 -650 71.0 55.0 (205 207 3NS= v7 400 97.0 29.0(168 171 34 V-1 T 50 115.0 11.0
106 179 44 O+1 &#A -650 71.0 55.0|216 275 3NS= 4T 400 97.0 29.0 (214 277 24 O-1 +3 50 115.0 110
107 178 44 O+1 &#A -650 71.0 55.0(268 271 3NN-= 47 400 97.0 29.0 (108 178 14 V= 3 -80 110.0 16.0
108 177 44 O+1 ¢2 -650 71.0 55.0 (270 269 3N S = v6 400 97.0 29.0 (270 269 14 V= *3 -80 110.0 16.0
113 101 44 O+1 &#A -650 71.0 55.0|273 266 3N S= v6 400 97.0 29.0 (307 303 14 V= 3 -80 110.0 16.0
115 174 44 O+1 &#A -650 71.0 55.0(274 265 3NN = 45 400 97.0 29.0(201 211 INV= 3 -90 101.0 25.0
167 170 44 O+1 ¢2 -650 71.0 55.0(276 215 3NN= 47 400 97.0 29.0(216 275 2¢ O= 2 -90 101.0 25.0
169 168 44 O+1 &#A -650 71.0 55.0(280 206 3NN = «J 400 97.0 29.0(276 215 INV= &5 -90 101.0 25.0
171 166 44 O+1 2 -650 71.0 55.0(301 309 3NS= v6 400 97.0 29.0 (369 368 2¢ V= va -90 101.0 25.0
173 116 44 O+1 #A -650 71.0 55.0|308 302 3NS= v6 400 97.0 29.0 (415 474 2¢ O = 2 -90 101.0 25.0
175 114 44 O+1 &A -650 71.0 55.0(313 376 3NN= 47 400 97.0 29.0 (469 468 2¢ O= ¢4 -90 101.0 25.0
180 105 44 O+1 #A -650 71.0 55.0|367 370 3NS= 42 400 97.0 29.0 (471 466 2# N-1 &7 -100 94.0 320
204 206 44 O+1 <vA -650 71.0 55.0|372 365 3NS= v6 400 97.0 29.0(104 112 14 V+1 T -110 81.0 450
208 202 44 O+1 2 -650 71.0 55.0(373 316 3NN= 43 400 97.0 29.0 (105 111 24 V= ¢T -110 810 450
215 274 44 O+1 T -650 71.0 55.0|379 310 3NS= 4T 400 97.0 29.0 (110 176 14 V+1 &2 -110 81.0 450
267 270 44 O+1 T -650 71.0 55.0|380 305 3NS= v6 400 97.0 29.0 (180 106 24 V= ¢T -110 81.0 450
271 266 44 O+1 2 -650 71.0 55.0 (408 402 3NN = 45 400 97.0 29.0 (273 266 24 V= ¢T -110 810 450
272 265 54 O = vA -650 71.0 55.0|471 466 3NS= v7 400 97.0 29.0(278 213 14 V+1 T -110 81.0 450
273 216 44 O+1 #A -650 71.0 55.0|475 414 3NS= v7 400 97.0 29.0(377 312 3¢ O= «A -110 81.0 45.0
275 214 44 O+1 &A -650 71.0 55.0|477 412 3NS= v6 400 97.0 29.0 (407 403 2¢ O+1 4K -110 81.0 450
278 211 44 O+1 #A -650 71.0 55.0|479 410 3NS= v7 400 97.0 29.0 (413 476 2¢ O+1 ¢33 -110 81.0 450
279 210 44 O+1 5 -650 71.0 55.0(116 175 34D O-2 &#A 300 74.0 52.0|472 465 2¢ O+1 ¢2 -110 81.0 45.0
280 205 44 O+1 #A -650 71.0 55.0|114 102 2NN+1 &5 150 68.0 58.0(477 412 14 V+1 T -110 81.0 45.0
301 311 44 O+1 &A -650 71.0 55.0(214 277 INN+2 ¢3 150 68.0 58.0 (478 411 14 V+1 v4 -110 81.0 450
302 310 44 O+1 45 -650 71.0 55.0(272 267 INN+2 &7 150 68.0 58.0|103 113 1INV +1 &5 -120  46.0 80.0
305 307 44 O+1 ¢5 -650 71.0 55.0|375 314 2NN+1 &5 150 68.0 58.0(114 102 INV+1 &5 -120  46.0 80.0
314 377 44 O+1 ¢2 -650 71.0 55.0(378 311 2NS+1 v6 150 68.0 58.0|170 169 INV+1 &3 -120 46.0 80.0
316 375 44 O+1 #A -650 71.0 55.0 (371 366 3% N= v3 110 60.0 66.0 (172 167 INV+1 &3 -120  46.0 80.0
368 371 44 O+1 T -650 71.0 55.0(404 406 2# S+1 v4 110 60.0 66.0|173 166 1INV +1l &5 -120  46.0 80.0
372 367 44 O+1 vA -650 71.0 55.0(415 474 3¢ S= vA 110 60.0 66.0 (174 165 INV+1 &5 -120 46.0 80.0
373 366 44 O+1 vA -650 71.0 55.0(472 465 34 O-2 #A 100 56.0 70.0|208 204 INO+1 &3 -120  46.0 80.0
374 365 54 O= #A -650 71.0 55.0|104 112 24 O-1 3 50 53.0 73.0(209 203 INV+1 &5 -120  46.0 80.0
376 315 44 O+1 ¢5 -650 71.0 55.0(168 171 24 O-1 &4 50 53.0 73.0 (272 267 INV+1 &5 -120 46.0 80.0
378 313 44 O+1 #A -650 71.0 55.0(108 178 Pass 49.0 77.0|274 265 INV+1 &5 -120  46.0 80.0
379 312 44 O+1 ¢2 -650 71.0 55.0 (209 203 Pass 49.0 77.0(279 212 INV+1 &5 -120  46.0 80.0
401 411 44 O+1 &A -650 71.0 55.0(103 113 3NS-1 v7 -50 27.0 99.0|301 309 INV+1 43 -120 46.0 80.0
405 407 44 O+1 #A -650 71.0 55.0(105 111 3NS-1 6 -50 27.0 99.0|304 306 INV+1 45 -120  46.0 80.0
408 404 44 O+1 v9 -650 71.0 55.0(107 179 3NS-1 7 -50 27.0 99.0|308 302 INV+1 43 -120 46.0 80.0
409 403 44 O+1 &A -650 71.0 55.0(110 176 3NS-1 v6 -50 27.0 99.0|313 376 INV+1 &2 -120 46.0 80.0
414 477 44 O+1 vA -650 71.0 55.0(170 169 3NS-1 7 -50 27.0 99.0|315 374 INV+1 42 -120  46.0 80.0
416 475 54 O = +5 -650 71.0 55.0(172 167 3NN-1 2 -50 27.0 99.0|367 370 INV+1 43 -120  46.0 80.0
468 471 44 O+1 ¢5 -650 71.0 55.0(173 166 3NS-1 v7 -50 27.0 99.0|375 314 INV+1 43 -120 46.0 80.0
470 469 44 O+1 43 -650 71.0 55.0(180 106 4¢ S-1 44 -50 27.0 99.0|380 305 INV+1 43 -120  46.0 80.0
472 467 44 O+1 ¢2 -650 71.0 55.0(201 211 3NS-1 v6 -50 27.0 99.0|467 470 INV +1 43 -120  46.0 80.0
474 465 44 O+1 vA -650 71.0 55.0(278 213 3NS-1 v7 -50 27.0 99.0|473 416 INV+1 43 -120 46.0 80.0
476 415 44 O+1 #A -650 71.0 55.0(279 212 3NS-1 v6 -50 27.0 99.0|475 414 INV+1 &5 -120  46.0 80.0
478 413 54 O = +3 -650 71.0 55.0(304 306 3NN-1 v6 -50 27.0 99.0479 410 INV+1 43 -120  46.0 80.0
480 406 44 O+1 &3 -650 71.0 55.0(377 312 3NS-1 v6 -50 27.0 99.0|107 179 2¢ O+2 &7 -130 20.0 106.0
109 176 44 O+2 &2 -680 12.0 114.0|401 409 3NS-1 *7 -50 27.0 99.0|202 210 2¢ O+2 4K -130 20.0 106.0
201 209 44 O+2 #A -680 12.0 114.0|407 403 3NS-1 v6 -50 27.0 99.0|371 366 2¢ O+2 &7 -130 20.0 106.0
207 203 44 O+2 &3 -680 12.0 114.0 (413 476 3NS-1 7 -50 27.0 99.0|109 177 14 V+2 48 -140  16.0 110.
213 276 44 O+2 #A  -680 12.0 114.0|469 468 3NS-1  v5 -50 27.0 99.0|205 207 INO+2 2 -150 12.0 114.0
277 212 44 O+2 #A  -680 12.0 114.0|473 416 3NS-1 v7 -50 27.0 99.0|373 316 INO+2 2 -150 12.0 114.0
308 304 44 O+2 &A -680 12.0 114.0 (478 411 3NS-1 v6 -50 27.0 99.0|404 406 2NO+1 +¥3 -150 12.0 114.0
309 303 44 O+2 #A -680 12.0 114.0 (480 405 3NN-1 7 -50 27.0 99.0|408 402 24 V+2 ¢T  -170 8.0 118.0
380 306 44 O+2 &A -680 12.0 114.0 (109 177 5# N-2 3 -100 3.0 123.0 {480 405 1INV +3 43 -180 6.0 120.0
479 412 44 O+2 &A -680 12.0 114.0(202 210 3NS-2 42 -100 3.0 123.0|268 271 2v N-2 &7 -200 3.0 123.0
370 369 14DS-3 ¢A  -800 2.0 124.0|315 374 3NS-2 a2 -100 3.0 123.0|372 365 14 S-2 42 -200 3.0 123.0
473 466 3¢DN-8 ¥3 -2300 0.0 126.0 |467 470 3NS-2 v7 -100 3.0 123.0|379 310 34DV= 38 -530 0.0 126.0
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13 4632 Basta kontrakt 14 4 K107 Basta kontrakt 15 4653 Basta kontrakt
Nord vD75 7NT O =-2220 |Ost v Kn53 4v O =-420 Syd v K8643 2NTV =-120
Alla + DKn10762 Ingen + D982 NS ¢+ E10
+K & ¢ v & NT *874 & ¢ v & NT *E106 & ¢ v & NT
« ED5 «Kn108 N17030 » 8643 «Kn N52266 4E974 #8 N36584
vE83 vKKn10964 S 1 7 0 3 0O v K102 vD8764 S52266 vDKn5 vE1092 S36574
+E9 +5 O 126 139 13 +K ¢ EKn10764 O 7 10107 7 ¢+ K5 + D872 0958538
#ED1075 #963 V 126 139 13 #ED1092 &K vV 7 10107 7 #5432 #KDKn7 V96858
& K974 4 ED952  KDKn102
v2 vE9 v7
+ K843 +53 + Kn9643
#Kn842 #Kn653 *98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
180 107 3NV-3 +Q 300 123.0 3.0|470 473 24 N= K 110 126.0 0.0(216 279 24aDS= K 670 1250 1.0
274 267 3NV-3 ¢Q 300 123.0 3.0|102 116 3#V-2 &7 100 119.0 7.0(270 273 24DS= K 670 1250 1.0
304 312 3NV-3 ¢Q 300 1230 3.0|173 168 6¢ O-2 vA 100 119.0 7.0(172 171 44DV -2 43 300 120.0 6.0
378 365 3NV-3 ¢Q 300 123.0 3.0(280 207 5v O-2 42 100 119.0 7.0(306 308 4vDV-2 46 300 120.0 6.0
115 103 6v O-1 3 100 114.0 12.0|374 369 5¢ O-2 vA 100 119.0 7.0(309 305 3NDV-2 46 300 120.0 6.0
203 211 6v O-1 47 100 114.0 12.0|376 367 3&#V-2 4T 100 119.0 7.0 (469 472 24 S+2 ¢K 170 116.0 10.0
271 270 6v O-1 #4 100 114.0 12.0|476 467 5v O-2 A 100 119.0 7.0|175 168 24 S+1 &3 140 111.0 15.0
403 413 3NV-1 ¢Q 100 1140 12.0(174 167 3v O-1 «A 50 108.0 18.0|201 215 24 N+1 &K 140 111.0 15.0
476 467 6v O-1 ¢4 100 1140 12.0(273 268 5v O-1 ¢3 50 108.0 18.0 (471 470 14 S+2 ¢K 140 111.0 15.0
466 477 2vV+1 ¢Q -140 108.0 18.0(279 214 4v O-1 +A 50 108.0 18.0 (480 407 24 S+1 vQ 140 111.0 15.0
265 276 3v O+1 ¢4 -170 106.0 20.0 {407 409 4v O-1 &3 50 108.0 18.0|174 169 14 S+1 &3 110 103.0 23.0
480 408 3¢ N-2 8 -200 104.0 22.0 (410 406 4v O-1 ¢5 50 108.0 18.0|211 205 24 S= vQ 110 103.0 23.0
104 114 4v V= ¢Q -620 100.0 26.0|274 267 24 S-1  ¢+K -50 101.0 25.0|266 277 24 S= v5 110 103.0 23.0
277 216 4y O = a4 -620 100.0 26.0 (416 479 24 S-1  +K -50 101.0 25.0|274 269 24 S= vQ 110 103.0 23.0
470 473 4v O = a7 -620 100.0 26.0|180 107 34 S-2 v2 -100  96.0 30.0({180 108 3NO-2 43 100 97.0 29.0
105 113 4y V+1 ¢ -650 62.0 64.0(271 270 34 S-2 ¢K -100 96.0 30.0(373 368 2NDO-1 4K 100 97.0 29.0
109 178 4v V+1 ¢Q -650 62.0 64.0|404 412 24 S-2 43 -100  96.0 30.0 (474 467 INN= «K 90 94.0 320
110 177 4v V+1 T  -650 62.0 64.0|104 114 3¢ O= vA -110 88.0 38.0|210 206 14 S= &2 80 91.0 35.0
111 176 4v V+1 Q -650 62.0 64.0|169 172 2¢ O+1 «A -110 88.0 38.0|377 316 14 S= 8 80 91.0 35.0
165 101 4y O+1 ¢2 -650 62.0 64.0 (269 272 3¢ O= ¢+5 -110 88.0 38.0(310 304 3v O-1 4K 50 87.0 39.0
169 172 4v O+1 +4 -650 62.0 64.0(310 306 3+ V= a7 -110 88.0 38.0|403 411 2¢ O-1 w7 50 87.0 39.0
171 170 4v O+1 42 -650 62.0 64.0 (401 415 3¢ O = A -110 88.0 38.0|112 176 Pass 83.0 43.0
173 168 4y O+1 44 -650 62.0 64.0(302 314 3¢ O+1 <vA -130 79.0 47.0(473 468 Pass 83.0 43.0
174 167 4v O+1 3 -650 62.0 64.0 (380 308 4¢ O= vA -130 79.0 47.0|101 167 24 S-1  #6 -100 68.0 58.0
175 166 4v V+1 +¢Q -650 62.0 64.0|403 413 3¢ O+1 &A -130 79.0 47.0|103 165 24 S-1 43 -100 68.0 58.0
201 213 4v V+1 +Q -650 62.0 64.0|466 477 3¢ O+1 vA -130 79.0 47.0|106 114 14 S-1 %6 -100 68.0 58.0
206 208 4v O+1 3 -650 62.0 64.0|277 216 2v O+1 A -140 740 52.0|111 177 24 S-1 ¢K -100 680 58.0
209 205 4y V+1 ¢ -650 62.0 64.0(108 179 44 S-3 ¢K -150 69.0 57.0(203 213 24 S-1 ¢K -100 68.0 58.0
273 268 4v V+1 +¢Q -650 62.0 64.0|215 278 34 S-3 ¢K -150 69.0 57.0|275 268 24 S-1 45 -100 68.0 58.0
279 214 4v O+1 +Q -650 62.0 64.0|375 368 3¢ O+2 vA -150 69.0 57.0|303 311 24 S-1 &5 -100 68.0 58.0
280 207 4v O+1 +4 -650 62.0 64.0(472 471 2¢ O+3 vA -150 69.0 57.0(315 378 24 S-1 &3 -100 68.0 58.0
301 315 4v V+1 ¢2 -650 62.0 64.0(111 176 3v O+1 4A -170 62.0 64.0(369 372 24 S-1 &5 -100 68.0 58.0
302 314 4v O+1 ¢K -650 62.0 64.0(115 103 3v O+1 A -170 62.0 64.0(374 367 24 S-1 vQ -100 68.0 58.0
303 313 4v O+1 ¢4 -650 62.0 64.0(171 170 3vy O+1 4A -170 62.0 64.0(380 307 44 S-1 v5 -100 68.0 58.0
307 309 4v V+1 ¢Q -650 62.0 64.0(110 177 3v V+2 +38 -200  57.0 69.0 (406 408 24 S-1 &5 -100 68.0 58.0
310 306 4v V+1 ¢Q -650 620 64.0(265 276 3v O+2 45 -200  57.0 69.0|410 404 14 S-1 &5 -100 68.0 58.0
366 377 4v O+1 ¢2 -650 62.0 64.0(307 309 34DS-2 ¢K -300 54.0 72.0(204 212 24 O+1 43 -110 53.0 73.0
370 373 4v O+1 +4 -650 62.0 64.0 (106 112 4v O = oA 420 42.0 84.0|365 376 3+ V= 43 -110 53.0 73.0
372 371 4v O+1 ¢9 -650 62.0 64.0|109 178 4y O = a2 -420 42.0 84.0(110 178 INO+1 T -120 48.0 78.0
401 415 4v O+1 &4 -650 62.0 64.0(175 166 4v O = &3 -420  42.0 84.0(170 173 INV+1l 46 -120  48.0 78.0
402 414 49 O+1 K -650 62.0 64.0(206 208 4v O = oA 420 42.0 84.0|272 271 2NO= T -120 48.0 78.0
404 412 4v O+1 v2 -650 62.0 64.0|301 315 4v O= oA  -420 42.0 84.0|278 265 34 V+1l 43 -130 43.0 83.0
407 409 4v O+1 v2 -650 62.0 64.0(311 305 4v O= +5 -420  42.0 84.0(301 313 32 O+1 7 -130  43.0 83.0
410 406 4v V+1 ¢Q -650 62.0 64.0(366 377 4v V= a5 -420 42.0 84.0(105 115 24V +3 ¢A -150 35.0 910
411 405 4y O+1 &2 -650 62.0 64.0|372 371 4v O= +6 -420  42.0 84.0(107 113 2NV +1 43 -150 35.0 91.0
416 479 4v O+1 ¢4 -650 62.0 64.0(378 365 4v O = oA 420 42.0 84.0|202 214 34V +2 43 -150 35.0 910
472 471 4v O+1 ¢4 -650 62.0 64.0 (402 414 4v O = ¢+5 -420  42.0 84.0(371 370 3+ V+2 46 -150 35.0 91.0
474 469 4y V+1 ¢Q 650 62.0 64.0|475 468 4y O= oA -420 42.0 84.0|465 476 34V +2 43 -150 35.0 91.0
475 468 4y V+1 ¢Q -650 62.0 64.0(105 113 4v O+1 4A  -450 18.0 108.0 |479 414 2#V+3 ¢A -150 350 091.0
478 465 4v V+1 ¢Q -650 62.0 64.0(165 101 4v O+1 v2 -450 18.0 108.0 (116 104 34 S-2 &5 -200  18.0 108.
311 305 3NV+2 ¢Q -660 26.0 100.0(201 213 4v O+1 45 -450 18.0 108.0 ({166 102 24 S-2 44 -200 18.0 108.0
102 116 4v V+2 ¢Q -680 17.0 109.0|202 212 4v O+1 &5 -450 18.0 108.0 (207 209 24DS-1 vJ -200 18.0 108.0
106 112 5v O+1 46 -680 17.0 109.0 (203 211 4y O+1 +¢5 -450 18.0 108.0 (276 267 34 N-2 &K -200 18.0 108.0
108 179 5v O+1 48 -680 17.0 109.0 {209 205 4v O+1 A  -450 18.0 108.0|280 208 24DS-1 vQ -200 18.0 108.0
202 212 4v V+2 ¢Q -680 17.0 109.0 (275 266 4y O+1 vA -450 18.0 108.0|302 312 2¢ S-2 &4 -200 18.0 108.0
215 278 4y V+2 ¢ -680 17.0 109.0 (303 313 4v O+1 vA  -450 18.0 108.0 (375 366 24DS-1 vQ -200 18.0 108.0
269 272 4v O+2 v2 -680 17.0 109.0 |316 379 4y O+1 46 -450 18.0 108.0 ({402 412 INDN-1 &K -200 18.0 108.0
375 368 4v O+2 v2 -680 17.0 109.0 (370 373 4y O+1 &5 -450 18.0 108.0 (415 478 34 S-2 vQ -200 18.0 108.0
380 308 4v V+2 #K -680 17.0 109.0 (474 469 4y O+1 #A  -450 18.0 108.0 |475 466 34 S-2 44 -200 18.0 108.0
316 379 4NV +2 ¢Q -690 8.0 118.0|478 465 4v O+1 &5 -450 18.0 108.0 |477 416 34 S-2 vQ -200 18.0 108.0
210 204 4v O+3 &3 -710 4.0 122.0 1480 408 4v O+1 5 -450 18.0 108.0 ({109 179 34 S-3 43 -300 6.0 120.0
275 266 4y O +3 &2 -710 4.0 122.0|210 204 4v O+2 #4 -480 4.0 122.0|379 314 2NDV= v4 -490 4.0 122.0
374 369 4v O+3 &4 -710 4.0 122.0 (304 312 34DS-3 42 -500 1.0 125.0|401 413 34DS-2 ¢Q -500 1.0 125.0
376 367 5¢DN-4 ¢5 -1100 0.0 126.0 |411 405 44DS-3 K  -500 1.0 125.0 (409 405 34DS-2 &2 -500 1.0 125.0
16 « EDKn753 Bésta kontrakt 17 & Kn72 Bésta kontrakt 18 4 K1075 Bésta kontrakt
Vast v 86 34 N =140 Nord v KKn3 3NT O =-400 Ost v 1042 3v S =140
ov ¢ E942 Ingen +5 NS + K97
*7 & ¢ v & NT #K87642 & ¢ v o NT *764 & ¢ v & NT
« K9 84 N57 4965 D63 4E109 N7 3553 «Kn « ED6432 N7 6 96 8
vD1073 vEK54 S57 495 vE92 ¢854 S73553 v 986 v73 S7596 8
¢Kn83 ¢ K75 084946 + D843 ¢ EK1097 O 6 108 8 9 ¢ E532 ¢ Kn1064 06 7 475
#K965 #ED83 V849 48 #Kn95 &ED V 6 108 8 9 #K10932 #5 V674635
#1062 » K854 +98
v Kn92 vD1076 v EKDKn5
+ D106 ¢ Kn62 + D8
#Kn1042 #103 #EDKn8
Par Kontr ut Res Poéng Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
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170 173 4v V-2 &7 200 1190 7.0|102 168 3NO-1 v7 50 1230 3.0|108 114 3NN+1 3 630 1240 20
172 171 4v O-2 42 200 1190 7.0|412 408 3NO-1 T 50 1230 3.0(312 308 3NN+1 &6 630 1240 20
180 108 4v V-2 7 200 119.0 7.0|466 402 3NO-1 v7 50 1230 3.0|378 369 3NN+1 3 630 1240 20
365 376 4v V-2 #7 200 1190 7.0|474 473 3NO-1 v6 50 1230 3.0|102 168 4v N= «5 620 1190 7.0
373 368 4v V-2 #7 200 1190 7.0|279 266 2#DS-1 ¥6 -100 118.0 8.0(280 209 4v S= 4] 620 1190 7.0
375 366 4v V-2 &7 200 1190 7.0(101 169 3¢ O= T -110 116.0 10.0|106 116 3NN-= «J 600 107.0 19.0
401 413 4v V-2 &7 200 1190 7.0(276 269 2¢ O+2 &T -130 1140 12.0(|175 170 3NS= v6 600 107.0 19.0
469 472 3#V-2 v8 200 1190 7.0(110 179 INV+2 #4  -150 110.0 16.0 (204 214 3NN-= 4 600 107.0 19.0
107 113 34 N= vA 140 1030 23.0|304 316 INO+2 v6 -150 110.0 16.0(273 272 3NN= ¢4 600 107.0 19.0
266 277 24 N+1 vA 140 103.0 23.0|480 410 INO+2 v7 -150 110.0 16.0 (304 316 3NN= ¢5 600 107.0 19.0
272 271 34 N= vA 140 103.0 23.0|301 367 2NO+2 ¥6 -180 105.0 21.0|309 311 3NN= ¢4 600 107.0 19.0
278 265 34 N= 8 140 103.0 23.0(|478 469 INO+3 7 -180 105.0 21.0(377 370 3NN= ¢J 600 107.0 19.0
306 308 14 N+2 4 140 103.0 23.0(104 166 3N O = v6 -400 75.0 51.0|380 310 3NN= 4 600 107.0 19.0
310 304 34 N= vK 140 103.0 23.0|106 116 3NO = v6  -400 75.0 51.0|413 407 3NS= ¢2 600 107.0 19.0
477 416 34 N= vA 140 103.0 23.0|107 115 3NO= v6  -400 75.0 51.0|480 410 3NN= 3 600 107.0 19.0
480 407 34 N= vK 140 103.0 23.0|165 105 3NO= v6  -400 75.0 51.0|468 479 4NO-5 <vA 250 96.0 30.0
377 316 24 N= vA 110 93.0 33.0|173 172 3NO = v6  -400 75.0 51.0|404 416 3v S+1 &J 170 94.0 32.0
379 314 24 N= «8 110 93.0 33.0(203 215 3NO = v6 -400 75.0 51.0|113 176 3v S= «J 140 80.0 46.0
101 167 4v V-1 «A 100 76.0 50.0|205 213 3NO = v6 -400 75.0 51.0|167 103 3v S= «J 140 80.0 46.0
166 102 3v V-1 #7 100 76.0 50.0|211 207 3NO = v6 -400 75.0 51.0|203 215 3v S= «J 140 80.0 46.0
174 169 3v V-1 &7 100 76.0 50.0 (212 206 3NO = v6  -400 75.0 51.0|211 207 3v S= «J 140 80.0 46.0
175 168 3v V-1 &7 100 76.0 50.0|271 274 3NO = v6  -400 75.0 51.0|271 274 3v S= «J 140 80.0 46.0
201 215 3v O-1 #7 100 76.0 50.0)|273 272 3NO = v6  -400 75.0 51.0|276 269 3v S= «J 140 80.0 46.0
210 206 4y V-1 4A 100 76.0 50.0 (275 270 3NO = v6  -400 75.0 51.0|277 268 3v S= «J 140 80.0 46.0
270 273 3NV-1 «A 100 76.0 50.0|305 315 3NO= v6 -400 75.0 51.0|303 365 3v S= «J 140 80.0 46.0
280 208 3v V-1 #7 100 76.0 50.0|306 314 3NO = v6 -400 75.0 51.0|313 307 3v S= «J 140 80.0 46.0
309 305 4v V-1 #7100 76.0 50.0 (309 311 3NO= v6 -400 75.0 51.0|366 302 3v S= «J 140 80.0 46.0
315378 3v V-1 7 100 76.0 50.0|312 308 3N O = v6 -400 75.0 51.0|372 375 3v S= «J 140 80.0 46.0
369 372 3v V-1 #7 100 76.0 50.0|313 307 3NO= v7 -400 75.0 51.0 (466 402 3v S= ¢A 140 80.0 46.0
371 370 4v V-1 #7 100 76.0 50.0 (366 302 3NO = v2 -400 75.0 51.0(476 471 3v S= vJ 140 80.0 46.0
406 408 4v V-1 7 100 76.0 50.0|368 379 3N O = v6 -400 75.0 51.0|267 278 2v N= «J 110 66.0 60.0
409 405 3NV-1 «Q 100 76.0 50.0|372 375 3NV = 3 -400 75.0 510|165 105 24DO-1 vQ 100 62.0 64.0
465 476 4v V-1 #7 100 76.0 50.0 (377 370 3NO = v7 -400 75.0 51.0(173 172 24aDO-1 vA 100 62.0 64.0
106 114 34 N-1 vA -50 54.0 72.0|403 465 3NO= 4  -400 75.0 510|368 379 5¢ O-2 vA 100 62.0 64.0
110 178 34 N-1  vA -50 54.0 72.0|405 415 3NO= v7 -400 75.0 51.0(101 169 4v S-1 ¢A -100 420 84.0
207 209 44 N-1  «4 -50 54.0 72.0|406 414 3NO= v6 -400 75.0 51.0|111 178 3NS-1 4] -100  42.0 84.0
211 205 44 N-1 vA -50 54.0 72.0|409 411 3NO= v7 -400 75.0 51.0(180 109 3v S-1 ) -100 42.0 84.0
275 268 34 N-1 vK -50 54.0 72.0|413 407 3NO= v6  -400 75.0 51.0|202 216 4y S-1 &) -100 42.0 84.0
374 367 44 N-1 YA -50 54.0 72.0|468 479 3NO= v6 -400 75.0 51.0|205 213 4y S-1 4] -100  42.0 84.0
471 470 34 N-1 vA -50 54.0 72.0|476 471 3NO= v7 -400 75.0 51.0(208 210 4y S-1 4 -100 42.0 84.0
116 104 44DN-1 vA -100 44.0 82.0|111 178 3NO+1 &4  -430 27.0 99.0(|212 206 4v S-1 4] -100 42.0 84.0
203 213 44 N-2 vA -100 44.0 82.0|113 176 3NO+1 &5 -430 27.0 99.0|265 201 4y S-1 &J -100  42.0 84.0
303 311 44 N-2 vA -100 44.0 820167 103 3NV+1 #4  -430 27.0 99.0(275 270 4v N-1 «A -100 42.0 84.0
274 269 3# V= A -110 40.0 86.0(171 174 3NO+1 &5 -430 27.0 99.0|279 266 4y S-1 4] -100 42.0 84.0
276 267 3v V= A -140 340 920(175 170 3NO+1 44  -430 27.0 99.0|301 367 3y S-1 4J -100  42.0 84.0
403 411 3v V= &7 -140 34.0 92.0(180 109 3NO+1 v6 -430 27.0 99.0|306 314 3NS-1 &J -100 42.0 84.0
410 404 3v V= &7 -140  34.0 92.0(202 216 3NO+1 v7 -430  27.0 99.0(374 373 3NN-1 ¢ -100 42.0 84.0
415 478 3v V= &7 -140  34.0 92.0(204 214 3NO+1 v7 -430 27.0 99.0(376 371 4v S-1 4] -100  42.0 84.0
473 468 3v V= *2 -140 340 92.0(208 210 3BNO+1 45 -430 27.0 99.0(405 415 3v S-1  4J -100 42.0 84.0
105 115 3v V+1 &7 -170  26.0 100.0 ({265 201 3NV +1 &4  -430 27.0 99.0 (409 411 4v S-1  &J -100 42.0 84.0
109 179 3v V+1 &7 -170  26.0 100.0 {267 278 3NO+1 44  -430 27.0 99.0(474 473 3NN-1 42 -100 420 840
301 313 3vV+1 4A -170 26.0 100.0 (277 268 3NV +1 &4  -430 27.0 99.0(104 166 3v S-2  &J -200 18.0 108.0
112 176 44DN-2 vA -300 19.0 107.0|280 209 3NV +1 #4  -430 27.0 99.0|110 179 3v S-2 4] -200 18.0 108.0
204 212 44DN-2 vA -300 19.0 107.0|303 365 3NV+1 #4  -430 27.0 99.0|305 315 4y S-2 & -200 18.0 108.0
302 312 44DN-2 vK -300 19.0 107.0|374 373 3NV +1 &7 -430  27.0 99.0 (401 467 4v S-2 4] -200 18.0 108.0
475 466 44aDN-2 vA -300 19.0 107.0 (376 371 3NO+1 v6 -430 27.0 99.0(403 465 3v S-2 &J -200 18.0 108.0
103 165 44DN-3 vA -500 13.0 113.0|378 369 3NV +1 #4  -430 27.0 99.0|412 408 4y S-2 & -200 18.0 108.0
202 214 44DN-3 vA  -500 13.0 113.0|380 310 3NV +1 &7 -430  27.0 99.0 (472 475 3v S-2 4] -200 18.0 108.0
111 177 4y V= A -620 5.0 121.0 (472 475 3NO+1 #T  -430 27.0 99.0(107 115 4v S-3 4] -300 7.0 119.0
216 279 4y V= *7 -620 5.0 121.0|477 470 3NO+1 «4  -430 27.0 99.0|112 177 4y S-3 4] -300 7.0 119.0
380 307 4v V= &7 -620 5.0 121.0(108 114 3NO+2 T  -460 3.0 123.0|406 414 4y S-3 &) -300 7.0 119.0
402 412 4y V= A -620 5.0 121.0(112 177 3NO+2 T  -460 3.0 123.0|477 470 4y S-3  4J -300 7.0 119.0
474 467 4v V= A -620 5.0 121.0 {401 467 3NO+2 v7 -460 3.0 123.0|478 469 54 N-4 v7  -400 2.0 124.0
479 414 4y V= A -620 5.0 121.0 |404 416 3NO+2 T  -460 3.0 123.0|171 174 24DO= <vA -470 0.0 126.0
19 3 Basta kontrakt 20 #1063 Basta kontrakt 21 » KKn864 Basta kontrakt
Syd v EK3 ANT S =430 Vast v KKn2 4v N =620 Nord v9 44 SD-1-200
ov ¢ KDKn1085 Alla ¢ 765 NS *4
»642 & ¢ v o NT #EKn106 & ¢ v & NT #E108765 & ¢ v & NT
4 K107 4 DKn854 N 7 107 5 10 « K9852 4DKn74 N 119 106 9 «E1097 453 N9 7 384
v 962 vD1054 S 7 107 5 10 v 10987 v65 S 119 106 9 v K53 vDKn107642 S 9 8 3 9 4
¢ E76 *2 052673 ¢3 ¢EKn1084 O 1 4 16 1 ¢E9632 +Kn 04 5 104 7
#Kn985 #K107 V52673 *K97 #52 Vi4a1le61 *2 #KKn9 V 45 104 7
« E962 «E «D2
v Kn87 vEDA43 vE8
¢ 943 ¢+ KD92 + KD10875
#ED3 «D843 «D43
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr Ut Res Poéng
411 407 34DO-3 3 800 1260 0.0(107 165 3NS+3 v9 690 121.0 50(214 208 24 N+1 3 140 1250 1.0
205 215 4¢DN+1 «Q 610 1240 2.0|174 173 3NN+3 8 690 121.0 5.0|380 312 24 N+1 +J 140 1250 1.0
278 269 14DO-2 3 500 122.0 4.0|204 216 3NS+3 T 690 121.0 5.0|205 265 24 N= ¢J 110 1209 5.1
112 178 3NS+3 v9 490 1200 6.0|272 275 3NN+3 ¢4 690 121.0 5.0|278 271 3¢ S= vK 110 1209 51
168 104 3NS+2 «#5 460 1150 11.0|412 406 3NN+3 8 690 121.0 5.0|102 172 4vDO-1 «Q 100 1138 122
274 273 3NN+2 v4 460 115.0 11.0|476 469 3NS+3 T 690 121.0 5.0|104 170 5vDO-1 «Q 100 1138 12.2
377 368 3BNN+2 ¥4 460 1150 11.0(213 207 3NN+2 ¢4 660 108.0 18.0(169 105 4v O-2 ¢K 100 113.8 122
475 470 3NS+2 &8 460 1150 11.0(280 210 3NN+2 T 660 108.0 18.0(308 316 6vy O-2 4Q 100 1138 122
103 169 3NS+1 #8 430 93.0 33.0|305 313 3NN+2 ¥8 660 108.0 18.0|415 409 5v O-2 «Q 100 1138 122
108 116 3NS+1 v9 430 93.0 33.0(365 301 3NN+2 4 660 108.0 18.0|110 116 4v O-1 Q 50 1047 213
172 175 3NS+1 #5 430 93.0 33.0|375 370 3NN+2 ¢4 660 108.0 18.0|210 212 5v O-1 ¢K 50 1047 213
174 173 3NS+1 #5 430 93.0 33.0|377 368 3NN+2 ¢J 660 108.0 18.0|478 473 4v O-1 ¢K 50 1047 213
180 110 3NN+1 8 430 93.0 33.0(480 409 3NN+2 &5 660 108.0 18.0|480 412 5vO-1 «Q 50 1047 213
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201 267 3NS+1 #5 430 93.0 33.0(304 314 4v N+1 ¢3 650 100.0 26.0(370 302 44 N-1 ¢Q -100 99.6 26.4
203 265 3NS+1 v2 430 93.0 33.0(105 167 3NN+1 v6 630 94.0 32.0|301 371 3y O+1 #4A -170 975 285
204 216 3NS+1 #5 430 93.0 33.0|109 115 3NN+1 ¥5 630 94.0 32.0|106 168 5#DN-1 ¢J -200 89.4 36.6
212 208 3NS+1 v2 430 93.0 33.0(180 110 3NN+1 T 630 94.0 32.0(108 166 44 N-2  +J -200 89.4 36.6
213 207 3NN+1 45 430 93.0 33.0(209 211 3NN+1 6 630 94.0 32.0(204 266 44DN-1 ¢J -200 89.4 36.6
266 202 3NS+1 #8 430 93.0 33.0|373 372 3NS+1 ¥3 630 94.0 32.0(207 215 2vV+3 ¢4 -200 89.4 36.6
276 271 3NN+1 &5 430 93.0 33.0 (367 378 4v S= +3 620 84.0 42.0(267 203 44 S-2 vQ -200 89.4 36.6
302 316 3NS+1 v9 430 93.0 33.0(376 369 5#S+1 ¢T 620 84.0 42.0 (277 272 5#DN-1 vJ -200 89.4 36.6
311 307 3NS+1 &K 430 93.0 33.0(380 309 4v S= vT 620 84.0 42.0|368 304 44 N-2 ¢6 -200 894 36.6
375 370 3NS+1 &8 430 93.0 33.0 (405 413 4v S= 42 620 84.0 42.0(314 310 5¢ S-3 v3 -300 813 447
380 309 3NS+1 &5 430 93.0 33.0 (465 401 4v N= +5 620 84.0 42.0(103 171 4v O= 3 420 559 70.1
404 414 3NS+1 #8 430 93.0 33.0(103 169 3NN-= «7 600 65.0 61.0(109 165 4v O = ¢5 420 559 70.1
412 406 3NS+1 &5 430 93.0 33.0(113 177 3NN= «Q 600 65.0 61.0(113 178 4v O = ¢K -420 559 701
107 165 3N S= v2 400 68.0 58.0(168 104 3NN = 42 600 65.0 61.0(115 176 4v O = «Q -420 559 70.1
280 210 3NS= &7 400 68.0 58.0 (203 265 3NN = «Q 600 65.0 61.0|167 107 4y O = v8 -420 559 70.1
303 315 3NS= &7 400 68.0 58.0 (266 202 5% N= +3 600 65.0 61.0(173 101 4v O= «Q -420 559 70.1
305 313 3NS= 46 400 68.0 58.0 (268 279 3NN = «4 600 65.0 61.0(175 174 4v O = 42 420 559 70.1
373 372 3NS= &7 400 68.0 58.0(278 269 3N S = 42 600 65.0 61.0|180 111 4v O = ¢K -420 559 70.1
376 369 3NS = &7 400 68.0 58.0(302 316 3NS= 42 600 65.0 61.0(202 268 4v O = «Q -420 559 70.1
379 366 3NS= v9 400 68.0 58.0 (308 310 3NN-= &7 600 65.0 61.0(206 216 4v O = ¢K -420 559 701
471 474 2NN+3 v4 210 60.0 66.0 311 307 3NN-= «7 600 65.0 61.0(213 209 4v O = «Q 420 559 701
371 374 34 O-2 +9 200 58.0 68.0 (312 306 3NS = 5 600 65.0 61.0(275 274 4v O = ¢K -420 559 701
101 171 4¢ N+1 v5 150 48.0 78.0(371 374 3NS= 42 600 65.0 61.0(280 211 4v O = ¢K 420 559 701
102 170 3¢ N+2 +2 150 48.0 78.0(403 415 3NS= 42 600 65.0 61.0(303 369 4v O = ¢K -420 559 70.1
206 214 3¢ N+2 «Q 150 48.0 78.0 (467 478 3NN = +Q 600 65.0 61.0(306 366 4v O = ¢K 420 559 701
304 314 3¢ N+2 3 150 48.0 78.0(201 267 34DV-2 43 500 50.0 76.0 (307 365 4v O = ¢K 420 559 701
308 310 2¢ N+3 ¢5 150 48.0 78.0(166 106 2¢ O-4 &4A 400 48.0 78.0(376 375 4y O= ¢K -420 559 70.1
402 416 3¢ N+2 v5 150 48.0 78.0(475 470 INN+5 T 240 46.0 80.0(378 373 4y O= ¢K 420 559 701
403 415 3¢ N+2 v5 150 48.0 78.0(108 116 INS+4 T 210 38.0 88.0(403 469 4v O = ¢K -420 559 701
405 413 4¢ N+1 «Q 150 48.0 78.0(112 178 INS+4 +3 210 38.0 88.0 (406 466 4v O = ¢K -420 559 70.1
480 409 2¢ N+3 4Q 150 48.0 78.0(172 175 INN+4 ¢J 210 38.0 88.0 (411 413 4v O = ¢K -420 559 701
105 167 3¢ N+1 «Q 130 23.0 103.0 (276 271 INN+4 8 210 38.0 88.0(468 404 4v O = «Q -420 559 70.1
111 179 4¢ N= «Q 130 23.0 103.0|303 315 INN+4 T 210 38.0 88.0|470 402 4v O = ¢K -420 559 70.1
113 177 3¢ N+1 4Q 130 23.0 103.0 (404 414 INS+4 3 210 38.0 88.0 (479 472 4v O = ¢K -420 559 70.1
114 176 3¢ N+1 «Q 130 23.0 103.0 (471 474 2NN+3 8 210 38.0 88.0|273 276 4y O+1 4Q -450 305 955
166 106 3¢ N+1 &J 130 23.0 103.0|101 171 24DV -1 43 200 29.0 97.0|112 179 44DN-2 ¢J -500 25.4 100.6
209 211 3¢ S+1 #5 130 23.0 103.0 (411 407 24DV-1 5 200 29.0 97.0 (401 471 34DN-2 ¢J -500 25.4 100.6
268 279 3¢ N+1 45 130 23.0 103.0 (205 215 INN+3 8 180 25.0 101.0 (408 416 5#DN-2 vQ -500 25.4 100.6
272 275 4¢ N= «Q 130 23.0 103.0|479 466 INN+3 T 180 25.0 101.0|414 410 44 N-5 vQ -500 254 100.6
277 270 3¢ N+1 4K 130 23.0 103.0 (102 170 3« N+3 v6 170 21.0 105.0 (305 367 4vDO= 4Q -590 15.3 110.7
312 306 3¢ S+1 3 130 23.0 103.0 (111 179 3v S+1 3 170 21.0 105.0 (311 313 4vDO= K -590 15.3 110.7
367 378 2¢ N+2 v5 130 23.0 103.0|114 176 3# N+2 4Q 150 13.0 113.0|315 309 4vDO= K -590 15.3 110.7
408 410 3¢ N+1 «Q 130 23.0 103.0 (206 214 INN+2 «Q 150 13.0 113.0|405 467 4vDO= «Q -590 15.3 110.7
465 401 2¢ N+2 v5 130 23.0 103.0 (212 208 INS+2 42 150 13.0 113.0|407 465 4vDO= «Q -590 15.3 110.7
467 478 3¢ N+1 v5 130 23.0 103.0|277 270 2#S+3 ¢5 150 13.0 113.0 |476 475 4vDO= K -590 15.3 110.7
477 468 3¢ N+1 4Q 130 23.0 103.0 (379 366 INS+2 42 150 13.0 113.0|374 377 3vDO+1 «Q -630 7.1 118.9
479 466 3¢ N+1 4Q 130 23.0 103.0 (402 416 3#S+2 3 150 13.0 113.0|379 372 3vDO+1 «Q -630 7.1 118.9
473 472 24 O-1 +9 100 6.0 120.0 |477 468 3#S+1 3 130 6.0 120.0 |474 477 5¢DN-3 45  -800 4.1 1219
365 301 5¢ N-1 44 -50 4.0 122.0 1408 410 2¢ S+1 ¢4 110 3.0 123.0|269 201 4¢DS-4 ¢2 -1100 2.0 124.0
109 115 6¢ N-2 48  -100 1.0 125.0 (473 472 2¢ S+1 2 110 3.0 123.0|114 177 54DN-5 +J -1400 0.0 126.0
476 469 3NS-2 v2 -100 1.0 125.0 (274 273 44 V-1 #A 100 0.0 126.0|279 270 A+/A+ 84.0 756
22 41076 Basta kontrakt 23 & EKDKn42 Basta kontrakt 24 & EKKn1042 Basta kontrakt
Ost v KKn92 2¢ S =90 Syd vE 6NT S = 1440 Vast v 108 5¢ VD-1100
oV ¢ EKn53 Alla + EK4 Ingen + 1095
#105 & ¢ v & NT #Kn93 & ¢ v & NT *E10 & ¢ v & NT
«KDKn82 49 N6 87 66 #1098 & 753 N 9 127 1212 473 .- N7 0 0 100
v D63 v 10754 S687 66 vKKn973 v D105 S 9 127 1212 v Kn9 vEKD7653 S 7 0 0 100
¢D ¢ K10742 074556 +10 ¢ Kn752 041611 ¢ EDKn862 ¢ K74 O 4 10101 5
#KDKn8  #943 V74556 #10742  #ED5 Vaia1le611 #Kn96 #D43 V 4 10101 5
4 E543 46 « D9865
vE8 v 8642 v42
+ 986 + D9863 +3
*E762 *K86 #K8752
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
378 373 3¢DO-5 vA 1400 126.0 0.0(115 177 64 N= v5 1430 1240 2.0|375 374 44DN= <vA 590 126.0 0.0
374 377 3#DV-2 v9 500 1240 20|208 216 64 N= 42 1430 1240 20(211 213 7¢DO-3 #A 500 1240 20
279 270 24RDV-1v4 400 1220 4.0|279 272 64 S= ¢T 1430 1240 2.0|367 303 54 N= vA 450 1200 6.0
112 179 24 V-3 &7 300 116.0 10.0(313 309 6¢ S= #2 1370 120.0 6.0|413 409 54 N= vA 450 1200 6.0
301 371 3NV-3 46 300 116.0 10.0(369 301 44 N+3 &5 710 117.0 9.0|469 401 54 N= vA 450 1200 6.0
379 372 24 V-3 &T 300 116.0 10.0(375 374 44 N+3 ¢5 710 117.0 9.0(170 106 44 N= vK 420 1130 13.0
401 471 24 V-3 &T 300 116.0 10.0(201 271 3NS+3 #2 690 108.0 18.0(270 202 44 N= vA 420 113.0 13.0
406 466 3#V-3 T 300 116.0 10.0(302 368 3NN+3 ¢5 690 108.0 18.0(310 312 44 N= vK 420 113.0 13.0
180 111 2NO-2 3 200 107.0 19.0|306 316 3NS+3 T 690 108.0 18.0|369 301 44 N= vA 420 113.0 13.0
210 212 2#DV-1 #T 200 107.0 19.0|378 371 3NS+3 ¢3 690 108.0 18.0|104 172 6¢DV-2 #A 300 107.0 19.0
275 274 2« V-2 v2 200 107.0 19.0|379 370 3NS+3 T 690 108.0 18.0(410 412 6¢DV-2 «A 300 107.0 19.0
280 211 24 V-2 &T 200 107.0 19.0|475 474 3NN+3 +5 690 108.0 18.0|109 167 34 N+ vQ 200 1040 22.0
115 176 INS+1 K 120 102.0 24.0|477 472 3NS+3 ¢3 690 108.0 18.0|105 171 5¢ V-1 #A 50 102.0 24.0
207 215 2¢ S+1 &K 110 100.0 26.0|101 175 44 N+2 5 680 59.0 67.0|101 175 54 N-1 vA -50 86.0 40.0
106 168 3NO-1 46 100 93.0 33.0(103 173 44 N+2 v5 680 59.0 67.0(103 173 54 N-1 vA -50 86.0 40.0
204 266 2#V-1 v3 100 93.0 33.0(104 172 44 N+2 ¢5 680 59.0 67.0(107 169 54 N-1 vA -50 86.0 40.0
305 367 2« V-1 &5 100 93.0 33.0|107 169 44 N+2 #A 680 59.0 67.0|111 165 54 N-1  vK -50 86.0 40.0
307 365 24 V-1 &T 100 93.0 33.0 (109 167 44 N+2 43 680 59.0 67.0(113 179 54 N-1 YA -50 86.0 40.0
370 302 14 V-1 &T 100 93.0 33.0(111 165 44 N+2 ¢5 680 59.0 67.0(180 112 54 N-1 vA -50 86.0 40.0
476 475 2 V-1 #5 100 93.0 33.0|113 179 44 N+2 ¢2 680 59.0 67.0|201 271 54 N-1 vA -50 86.0 40.0
103 171 INN= *2 90 79.0 47.0(114 178 44 N+2 &7 680 59.0 67.0(203 269 54 N-1 vA -50 86.0 40.0
169 105 INN= *7 90 79.0 47.0(170 106 44 N+2 45 680 59.0 67.0(206 266 54 N-1 YA -50 86.0 40.0
202 268 INS= aK 90 79.0 47.0(174 102 44 N+2 3 680 59.0 67.0(268 204 54 N-1 YA -50 86.0 40.0
314 310 INS= 8 90 79.0 47.0(180 112 44 N+2 +2 680 59.0 67.0(276 275 54 N-1 vA -50 86.0 40.0
376 375 INS= K 90 79.0 47.0(203 269 44 N+2 ¢5 680 59.0 67.0(279 272 54 N-1 ¢K -50 86.0 40.0
415 409 INN= ¢2 90 79.0 47.0]|205 267 44 N+2 43 680 59.0 67.0(305 365 54 N-1 YA -50 86.0 40.0
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478 473 INS= a2 90 79.0 47.0|206 266 44 N+2 &A 680 59.0 67.0|373 376 54 N-1 YA -50 86.0 40.0
479 472 INN-= ¢2 90 79.0 47.0|207 265 44 N+2 ¢5 680 59.0 67.0|479 470 54 N-1 vA -50 86.0 40.0
104 170 INS-1  «K -50 55.0 71.0|211 213 54 N+1 v5 680 59.0 67.0|208 216 54DN-1 vA -100 68.0 58.0
108 166 2v N-1 49 -50 55.0 71.0|215 209 44 N+2 45 680 59.0 67.0|402 468 54DN-1 vA -100 68.0 58.0
113 178 INS-1 «K -50 55.0 71.0|268 204 44 N+2 43 680 59.0 67.0|480 411 64 N-2 vA -100 68.0 58.0
173 101 INS-1  «K -50 55.0 71.0|274 277 44 N+2 4«3 680 59.0 67.0|168 108 64aDN-2 vA -300 64.0 62.0
175 174 INS-1  4Q -50 55.0 71.0|276 275 44 N+2 47 680 59.0 67.0|205 267 5¢ V+2 #A -440 62.0 64.0
213 209 INS-1 «Q -50 55.0 71.0|278 273 44 N+2 ¢5 680 59.0 67.0|110 166 5v O+2 &5 -510 48.0 78.0
214 208 INS-1 v3 -50 55.0 71.0|280 212 44 N+2 v5 680 59.0 67.0|114 178 4v O+3 +3 -510 48.0 78.0
267 203 2# S-1 #K -50 55.0 71.0|304 366 44 N+2 42 680 59.0 67.0|207 265 5v O+2 43 -510 48.0 78.0
273 276 INS-1  «K -50 55.0 71.0|305 365 44 N+2 45 680 59.0 67.0|214 210 5v O+2 ¢3 -510 48.0 78.0
278 271 INS-1  «K -50 55.0 71.0|307 315 54 N+1 43 680 59.0 67.0|306 316 4y O+3 &7 -510 48.0 78.0
311 313 INS-1 &K -50 55.0 71.0|314 308 44 N+2 43 680 59.0 67.0|378 371 5v O+2 +3 -510 48.0 78.0
315 309 INS-1 4K -50 55.0 71.0|373 376 44 N+2 43 680 59.0 67.0|379 370 5v O+2 +3 -510 48.0 78.0
368 304 INN-1 6 -50 55.0 71.0|377 372 44 N+2 43 680 59.0 67.0|404 466 5v O+2 &5 -510 48.0 78.0
411 413 2N S-1 &K -50 55.0 71.0|380 311 44 N+2 45 680 59.0 67.0|407 415 5v O+2 +3 -510 48.0 78.0
414 410 INS-1 &K -50 55.0 71.0|402 468 44 N+2 42 680 59.0 67.0|467 403 5v O+2 &5 -510 48.0 78.0
480 412 INS-1 &K -50 55.0 71.0|404 466 44 N+2 43 680 59.0 67.0|473 476 4v O+3 &5 -510 48.0 78.0
110 116 1a V= &T -80 33.0 93.0|405 465 44 N+2 43 680 59.0 67.0|477 472 5v O+2 43 -510 48.0 78.0
114 177 l1la V= a7 -80 33.0 93.0|406 416 44 N+2 &5 680 59.0 67.0|478 471 5v O+2 +3 -510 48.0 78.0
167 107 1a V= &T -80 33.0 93.0|407 415 44 N+2 43 680 59.0 67.0|215 209 5vDO+2 ¢3 -850 29.0 97.0
205 265 1a V= &T -80 33.0 93.0|410 412 54 N+1 47 680 59.0 67.0(280 212 5vD O +2 42 -850 29.0 97.0
308 316 1s V= 46 -80 33.0 93.0413 409 44 N+2 &7 680 59.0 67.0|377 372 5vDO+2 48 -850 29.0 97.0
470 402 1e V= &T -80 33.0 93.0|414 408 44 N+2 ¢5 680 59.0 67.0|405 465 5vDO+2 ¢3 -850 29.0 97.0
102 172 INS-2 4K -100 20.0 106.0 (467 403 44 N+2 ¢5 680 59.0 67.0|406 416 5vDO+2 ¢3 -850 29.0 97.0
277 272 INN-2 ¢4 -100 20.0 106.0 |469 401 44 N+2 43 680 59.0 67.0|414 408 5vDO+2 ¢3 -850 29.0 97.0
303 369 24 S-2 4K -100 20.0 106.0|478 471 44 N+2 T 680 59.0 67.0(274 277 6v O+1 &5 -1010 18.0 108.0
403 469 2NS-2 4K -100 20.0 106.0 {479 470 44 N+2 43 680 59.0 67.0|302 368 6y O+1 45 -1010 18.0 108.0
407 465 INN-2 ¢2 -100 20.0 106.0 |480 411 44 N+2 5 680 59.0 67.0(304 366 6vy O+1 &6 -1010 18.0 108.0
408 416 4¢ N-2 49 -100 20.0 106.0 {168 108 44 N+1 ¢5 650 13.0 113.0 {307 315 6y O+1 49 -1010 18.0 108.0
468 404 INS-2 4K -100 20.0 106.0|270 202 54 N = +5 650 13.0 113.0 (380 311 6y O+1 +3 -1010 18.0 108.0
206 216 1a V+1 ¢5 -110 10.0 116.0|367 303 44 N+1 5 650 13.0 113.0 {115 177 6vDO+1 4«6 -1310 6.0 120.0
269 201 14 V+1 &T -110 10.0 116.0 |473 476 44 N+1 v4 650 13.0 113.0 {116 176 6vDO+1 3 -1310 6.0 120.0
306 366 24 O = 49 -110  10.0 116.0 {105 171 44 N= 3 620 8.0 118.0|174 102 6vDO +1 49 -1310 6.0 120.0
380 312 3NS-3 4Q -150 4.0 122.0 (116 176 34 N+3 &7 230 6.0 120.0|278 273 6vDO+1 ¢3 -1310 6.0 120.0
405 467 2NS-3 4K  -150 4.0 122.0 (310 312 14 N+3 ¢7 170 4.0 122.0 (313 309 6vDO+1 4«5 -1310 6.0 120.0
474 477 3v N-3 49 -150 4.0 122.0 (110 166 44 N-1 43 -100 1.0 125.0|314 308 6vDO+1 «5 -1310 6.0 120.0
109 165 3NN-4 ¢2 -200 0.0 126.0 (214 210 6¢ S-1 v3 -100 1.0 125.0 |475 474 6vDO+1 ¢3 -1310 6.0 120.0
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